ST-2047 RRBPO (MAINS) 2020 (PRACTICE)

Passage for Question 1, 2, 3, 4, 5 (ST-2047RRBPOMAINS(1-5R)2020)
eng Passage

Study the following information carefully and answer the questions below.

Eight people M, N, O, P, Q, R, S and T lives in a four buildings floors such as bottom floor is numbered 1 and floor above it is numbered 2 and so on. Each floor
has 2 flats in it as Flat-1 and Flat-2. Flat -1 is in the west of Flat-2. They all are likes different games i.e., cricket, football, tennis, badminton, hockey, chess,
volleyball, kabaddi but not necessarily in the same order.

R does not like to play badminton and does not live in flat-2. The one who likes to play badminton does not live on floor number 3. The one who likes to play
kabaddi lives immediately below the one who plays hockey. P and Q do not like to play tennis and badminton respectively. R lives on the floor above M. Q lives
just below S's flat. The one who likes to play kabaddi and the person who likes tennis live on the same floor. There is no floor between the one who likes to play
football and Q whose flat is in the south-east of the one who likes to play football. Only two floors are between R and N who likes to play chess. The one who likes
to play chess and badminton live on the same flat number. O lives on the 4th floor and in Flat-2. M lives immediately above the flat of P. The one who likes to play
football lives on odd number floor and lives in odd number Flat. The one who likes to play cricket lives below the floor of the one who likes to play kabaddi. R likes
to play volleyball.

hi Passage
Fafafaa TTasTd &1 eamgd® SeqaT L T frwaw i w 397

AS=REM, N, O, P, Q, R, S T T =TT a1 I giorelt # Tga & St o = i wfSrer Y st 1 8 oi¥ sa% ue it /iorer 2 oitT gt a<g em oft 4
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FAT & a8 grehl @A ATl F A A1 TgaT gl P 3T Q FHer: e 3T Seffied GemT og 981 F¢d 81 R, M ¥ F°T &l #i5rer 92 Tgar g1 Q, S F Fie
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Fle Fed o GAAT THE FT a1l & Z(&01-T9 | g 37 o1 Tl o7 Al gl R T N ST 73S GAdT THE FAT § F 919 Hadl a1 Hiord 5| a8 ST gqaqvsT
T TSfHed o1 THE Fd 8, I8 THT Tl H&dT 92 T4 g1 O, AT #15re u¥ 3T e -2 § ¥ga1 81 M, P & W< & 31% F9Y Tdl gl 98 Sl Feard
@www%ﬁﬁwwmﬁwwaﬁtﬁwwmﬁqﬁzﬁw%a‘gﬁﬁ@z@m‘rmm‘r% angﬁrnﬁ?—r@ﬁﬁ%lgm% STT et
GAAT THE FLAT 81 R ATl G T8 F2dT 8

Q-1 ‘Which of the following is true, according to the given information?
eng

01. P lives on floor number 1. 02. S likes to play badminton.
03. R lives on flat-1 and likes to play volleyball. 04. N does not like chess.

05. None of these
Q-1 & T TEET F qqE, o § F fe-ar 98 82

hi
01. P wforer |7 1 92 T2ar 2l 02. S T JefeT G 76T 2
03. R %2 -1 U TEAT ¢ AT Afcitaie Gadr 04, N &y aa<sl I6e 981 g
THT FAT B
05. =% & TS T
Solution for Question 1 Ans Key: 3
eng Floor Flat-1 Flat-2

Floor-4 R(volleyball) | O(badminton)
Floor-3 M(football) | S(hockey)
Floor-2 P(kabaddi) | Q(tennis)

Floor-1 T(cricket) N(chess)

hi BiE e -1 e -2
o RETD o)

mfer -3 M(ZTe) S(er)

Tt -2 P(#Fg3l) Q(efa)
Tfetet -1 T(Frae) N(IT=)

Q-2 Who lives on 3rd number floor?
eng

01. T.S 02. R,P



03. N, M 04. M, S
05. None of these

LY wemT wire 9% i At 82

01. T,S 02. R,P
03. N,M 04. M, S
05. =H F F1E TE

Solution for Question 2

eng

Q-3

eng

Q-3
hi

Floor Flat-1 Flat-2
Floor-4 R(volleyball) | O(badminton)
Floor-3 M(football) | S(hockey)
Floor-2 P(kabaddi) | Q(tennis)

Floor-1 T(cricket) N(chess)

BIEE Tele -1 ol -2
Tftet -4 R(@cE@) | O(Ffbe)
Hfeet -3 M(zaiter) S(Er)
Tt -2 P(Fag2l) Q(efa)
et -1 T(fwe) N(F1aT)

Who likes to play Kabaddi?

01. p 02. M
03. N 04. O
05. None of these

FAGT GAAT [ THE &2

01. p 02. M
03. N 04. O
05. =i & 78

Solution for Question 3

eng

Floor Flat-1 Flat-2
Floor-4 R(volleyball) | O(badminton)
Floor-3 M(football) | S(hockey)
Floor-2 P(kabaddi) | Q(tennis)

Floor-1 T(cricket) N(chess)

e e -1 iz -2
Tftet -4 R (FtefiaeT) O(=Fzfe)
Tferet -3 M(TesiTeT) S(ErH)
et -2 P(F=dl) Q)
et -1 T(Free) N(ZTdi)

How many people live between the floors of M and T?

01. One 02. Two
03. Three 04. Four
05. Five

M s Ty st 37 e 3 ey =1t 7 3

01. uw 02. =7

03. & 04. =77
05. 9=

Solution for Question 4

eng

Floor Flat-1 Flat-2
Floor-4 R(volleyball) | O(badminton)
Floor-3 M(football S(hocke

Ans Key: 4

Ans Key: 1

Ans Key: 2



Floor-2 P(kabaddi) | Q(tennis)

Floor-1 Ti(cricket) N(chess)
hi B e -1 T -2
Tfstet -4 R(@fEia) | OFeie)
Tferer -3 M (Faiter) S(EF)

Histet -2 HEEEE) Q(er)
Tfetet -1 MEED) N(F1aT)

Q-5 Four of the following five are alike in a certain way and so form a group. Which one of the following does not belong to the group?
eng

01. O 02. Q

03. s 04. T

05. N

Q-5 Referfed afsr & & = uF [T a8 & us 59 € oiT saforn us aqg aqrq 8| Faferfead & & w ar aqg & gafaq a8 g2

01. 0 02. Q

03. S 04. T

05. N
Solution for Question 5 Ans Key: 4
eng Floor Flat-1 Flat-2

Floor-4 R(volleyball) | O(badminton)
Floor-3 M(football) | S(hockey)
Floor-2 P(kabaddi) | Q(tennis)

Floor-1 T(cricket) N(chess)
hi BIE e -1 Tele -2
Hftet -4 R(@ @) | O(F2me)
et -3 M(Feare) S(eT)

HisteT -2 P(FaZ21) Q(eFa)
Tfetet -1 T(fF*z) N(ETaT)

Passage for Question 6, 7, 8, 9, 10 (ST-2047RRBPOMAINS(6-10R)2020)
eng Passage

Study the following information carefully and answer the questions below.

Seven person A, B, C, D, E, F and G were born in different years. The age of those people was calculated on the basis of the year 2019. They all like different
cars, Audi, BMW, Swift, Maruti, Hyundai, WagonR, Verna but not necessarily the same order.

Note: If the person's age is considered as the last two digits of that person birth year, then it will be considered in any sequence. For Example, If the age of M is
considered as the last two digits of birth year of Y which is 1928, then the age of can be either 28 or 82.

The difference between the age of C and F is 4 years. C was born in 1980 and he likes Hyundai. There are two cars between the one who likes Maruti and the one
who likes a swift. A’s age is equal to the last two digits of the birth year of F and his age is not divisible by 2. E’s age is the half of the age of the sum of ages of A
and F. G likes a swift car and his age is a square number between E and A's ages. B’s age is equal to the last two digits of birth year of G and does not like BMW
and WagonR car. The age of one who likes Verna car and the one who likes WagonR is divisible by 11. D’s age is half the age of the G’s age.

hi Passage

et STasTd £ 1 sq\ga T stegaT R AT fFRrwrr T F s

a1d =ARE A, B, C, D, E, F 3T G STENT-3(eRT 961 | 27 T A IF AN 6T Y T T0ET a9 2019 F ST T 307 T2 2ff| o THY SToT- 31T 1, A,
Fruaesay, fave, ATE(T, 22, AT, 317 HT THE Fd @ AT STEL Al 16 THT &1 HH 8l

e T =T 6T A FT I ATE & S & a9 6 AT T 37 6 ©F § AT ST &, T 7 1 ST FH7 § 7T SATUAT| I 5 forw, TfE M AT o 0
Y % SR a9 % Afqw I 37 F w9 H AT T0GT 2, S 6 1928 2, a1 A 28 AT 82 BT Al B

C 3T F & 3 o &= &7 3{q< 4 a9 g1 C FT ST 1980 H g3 AT ¥ §E< FI THE g HIE(A il THE HLA FTeT 3T [T T THT F AT & 14 &l FIY
Bl AFT ST F % S0 a9 & S| 27 31 F araw g 9T SHehr a7 2 & farsrsar 781 g1 E 7 o A 3T F 3 317 o T 7 e g1 G F fPave F# v ade 8
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B AT FTY THE FIA AT 3T AL HTL THE F2eA aTed 00 a0 11 7 a7 81 D AT g G ¥ o 7 37em g

Q-6 The one who likes WagonR car born in which year?
eng

01. 1945 02. 1976



03. 1780 04. 1972
05. 1964
Q-6 AL FTT THE FiTe AT AT<hH T STH (6 a9 § gAT 2
hi
01. 1945 02. 1976
03. 1780 04. 1972
05. 1964
Solution for Question 6 Ans Key: 5
eng A 1952 67 Audi/BMW
B 1964 55 Verna
C 1980 39 Hyundai
D 1987 32 Maruti
E 1964 55 WagonR]
F 1976 43 AudilBMW
G 1955 64 Swift
hi A 1952 67 | sitdy drowmesy
B 1964 55 |a=
c 1980 39 g=f
D 1987 32 ATEE
£ 1964 T —
F 1976 43 sirdvdronzey
G 1855 &4 ~—
Q-7 Which of the following is true according to the given information?
eng
01. C born in the year 1987. 02. The one who likes BMW born in the year 1767.
03. D’sageis 32. 04. B likes BMW car.
05. None of these
Q-7 & TE AEFIET F AT et § 7 #3991 98y 82
hi
01. C =TS+ 7 1987 § g &M 02. FUHES FT THE FIA AT FT SR/ a9 1767 H g3 =TI
03. DFTMT328 04. BT fUHEsey FTY THE B
05. =i & 7S
Solution for Question 7 Ans Key: 3
eng A 1952 67 Audi/BMW
B 1964 55 Verna
C 1980 39 Hyundai
D 1987 32 Maruti
E 1964 55 WagonR]
F 1976 43 Audi/BMW
G 1955 64 Swift
hi A 1952 L
B 1964 55 &=
c 1980 39 g=f
D 1887 32 AT
S 1964 55 —
F 1976 43 Frévdenzey
G 1855 64 ~—
Q-8 E likes which Car?
eng
01. Audi 02. BMW
03. Maruti 04. WagonR
05. Either (1) or (2)
Q-8 E T I 9t 1T 798 872
hi
01. =<y 02. fuHz=g



03. #T=fa
05. 7TdT1)AT2)

04. ST

Solution for Question 8 Ans Key: 4
S0s A 1952 67 Audi/BMW
B 1964 55 Verna
] 1980 39 Hyundai
D 1987 32 Maruti
E 1964 55 WagonR|
F 1976 43 Audi/BMW
G 1955 64 Swift
= A 1952 67 | 3irdy duwseey
B 1964 55 .
C 1880 39 (e
D 1687 32 AR
E 1964 55 FaroranT
F 1976 43 srddvEEy
G 1955 64 feqre
Q-9 F was born in which year?
eng
01. 1952 02. 1982
03. 1956 04. 1980
05. None of these
Q-9 F o ad 7 a7 gam?
hi
01. 1952 02. 1982
03. 1956 04. 1980
05. it & A T
Solution for Question 9 AnsKey: 5
eng A 1952 67 Audi'BMW
B 1964 55 Vermna
o] 1880 39 Hyundai
D 1987 32 Maruti
E 1964 55 WagonR]
F 1976 43 Audi/BMW
G 10955 64 Swift
hi A 1852 CEEE
B 1964 55 a7
C 1980 39 (&)
D 1987 32 T
E 1964 55 FerT
F 1976 43 srdydrEeey
G 1955 64 feawe
Q-10 Four of the following five are alike in a certain way and so form a group. Which one of the following does not belong to the group?
eng
01. D 02. E
03. F 04. G
05. B
Q-10 fFwforfea o= § & 91 U MiHT a8F & UF JH 2 T 370 TF T4 a7d g [HHead § 8§ F 97 948 § Ga619q Tal 87
hi
01. D 02. E
03. F 4. G
05. B
Solution for Question 10 Ans Key: 3
eng A 1952 67 Audi/BMW
B 1964 55 Vermna
Cc 1980 39 Hyundai




U 1987 L Waruti
E 1964 55 WagonR)|
F 1976 43 Audi/BMW
G 1955 64 Swift
B A 1952 67 | sirdy drewmeey
B 1964 55 |as
c 1980 39 §!§
D 1987 32 -
= 1964 55 o
F 1976 43 sirdvdroageeT
G 1855 64 T

Passage for Question 11, 12, 13, 14, 15 (ST-2047RRBPOMAINS(11-15R)2020)
eng Passage

Study the following information carefully and answer the questions below.

There are eight persons in family G, H, I, J, K, L, M and N all are sitting in a line facing north but not necessary in the same order. Each of them has a relationship
with G, they can be Father, Mother, Wife, Brother, Sister, Son, Daughter but not necessarily in the same order.
* G’s father is an immediate neighbor of L, who sits one of the extreme ends of the line.

* G is sitting second to the right of G’s brother.

* G’s brother and J are immediate neighbor of each other.

* Only two persons are sitting between G’ father and G’s son.

+ K is not an immediate neighbor of G, and is sitting second to right of G’s son.

* Lis elder to M in the family.

* Only two persons are sitting between K and H.

* Only two people are sitting between J and G’s sister.

* G’s wife is immediate neighbor of N.

* G’s father is sitting to the immediate right of G’s daughter.

hi Passage
Rerferied ST FT AT gE® Teaa= w2 3T A {30 0 3o1i 3 397 3|

qfa ® s &ARE G, H, 1, J, K, L, M 3T N & @it 3¢ &1 oY {g 0 UF Ul § 98 g AThd SHI 07 H SAa9TF Tal gl A8 o T4 %7 G & a1 TH
Troqr & F AT, ATaT, 9=, 9T, T2, F2T, T ST TR & A0 ST A5l 1% T H7 | gl
« G % T9aT L% Mefeaw w=ht €, S dfe & sifaw gl § 9 v 92 J3ar 2

* G, G ¥F ATE % TS AT AT 2

« G T 9TE 2T J U gEL F qohTel T 2

« G % TIaT 31T G ¥ 92 F 919 9 a1 =A<F 95 21

* K, G T TeTel TSTHT 721 8, 3T G 3 9¢ 3 qTs ¥ AT 997 8

[ TREAR A M A FETEI

« K 31T H 3 = & Faet <1 =116 95 2

JATGH TRAF T FAA A AN LS &

« G #T Il N T TohTel T2THT 21

« G % TIaT G Y 381 % Terer aTE AT 9B 2

Q-11 Who is G’s mother?
eng

01. M 02. N
03. L 04.

05. None of these
Q-11 G #T A7t ®I7 82

—

hi
01. M 02. N
03. L 04. 1
05. T S T
Solution for Question 11 Ans Key: 3
eng
brother  ife con sister daughterfathermother

A A
1T 1T T 1T T 11




Q-12

eng

Q-12

hi

- T Cral
|
I T |
N J G M H K |

A 9 Rar AT
[ 1 ]
I 1 1

How many persons are sitting between G and G’s daughter?

01. One 02. Two
03. Three 04. Four
05. Five

G 3% G FT 3 F == oy =af~p 95 €2

01. U= 02. =7
03. i 04. 91T
05. 9=

Solution for Question 12

eng
brother  wife son sister daughter fathermother
I T S |
1 1T | | |
N J G M H K | L
B s Toell o7 S & Rar A@Ew
| I I R A |
1 1 T 1T 1T T
N J G M H K | L
Q-13 Who sits third to the left of G’s father?
eng
01. G’son 02. G’ daughter
03. G’ sister 04. G’ mother
05. None of these
Q13 G oy 3 i dfer 7 2 22
01. G T aeT 02. G a2t
03. Gt ae 04. GHrat
05. =H & FTE T
Solution for Question 13
eng
brother  ife son Sister daughterfathermother
g F 1 1 |
1 [ ]
N J G M H K | L
B s Toar o7 WA & Rar @mEr
Y I B N N N N
1 T T 17 1T T
N J G M H K | L

Ans Key: 2

Ans Key: 1



Q-14 If all the people are arranged in alphabetical order from left to right, then how many persons are sitting at their same position?

eng
01. One 02. Two
03. Three 04. Four
05. None

Q-14 =T a+f ARM 1 76 & IT0 JUHTAT F FH H FFeAd Frar A g, 91 Fraw =it s qwe s v § 82
hi

01. u= 02. =7
03. & 04. =TT
05. Frs gl
Solution for Question 14 Ans Key: 5
eng
brother  ife son sister daughter fathermother
[ A I
B EEE NN
N J GG M H K I L

B sT§ T ¥or @A & Rar AT
| Y R Y Y B
1 T 1T 17 T T
N J G M H K | L
Q-15 How is L related to K?
eng
01. Mother 02. Mother-in-law
03. Daughter 04. Grandmother
05. Granddaughter
Q-15 L, K ¥ e yare gafed 22
hi
01. #F 02. 99
03. & 04. =TEy/ATA
05.  reft/AaTet
Solution for Question 15 Ans Key: 4
eng
brother  ife son sister daughter fathermother
I A N I
11 [ | |
N J G M H K | L
B aT$ T dor Fed & Rar AT
| Y N N R N |
1 1T 1T 1T 171
N J G M H K | L

Passage for Question 16, 17, 18, 19, 20 (ST-2047RRBPOMAINS(16-20R)2020)
eng Passage

In each question given below four statements are followed by four conclusions numbered I, I, III and IV. You have to take the four given statements
to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically follows. Give answer-

hi Passage




A TRAFIT T ATTHIT AT IAF 12 T FAoH I, 10, 11 T IV Frg g €1 st fad 12 ST w91 &1 9¢7 A1 § 918 F TATAQ: /79

T=T & P #9717 11 5 77 9€ sh LTI F FIF-ATATIR S €T F ATHO FIAT | ST AT -

Q-16

eng

Q-17

eng

Statement:

No green is yellow.

Some yellow are orange.

All yellow are purple.

Only orange are white.

Conclusion:

I) Some orange are not yellow.

II) All white can be yellow.

IIT) All green being purple is a possibility.
IV) No white is purple.

01. Only I follows 02. Only L IT and I follow
03. Only II, IV follow 04. Only II1, IV follow
05. None of these

I)wawﬁlﬁ?rﬂfréw

I0) &7 T2 dier 2T T &

IID) T+t 2 3 SN g Y Uk §9TaET 2
IV) T T%a ST T21 &

01. el | SITELT FAT S 02. e I, 11 ST I ST F3d &
03. FFe IL, [V SATE0T Fd &
05. =8 & #rE T

Solution for Question 16

@ \@.

Statement:

All star are galaxy.

Some star are not comet.

Only a few galaxies are asteroids.

Some comets are planets.

Conclusion:

1) All stars can be comet.

II) Some planet not being star is a possibility.
IIT) No comet are asteroid.

04. e 111, [V TTE0T Fd &

Ans Key: 5



IV) All stars being asteroid is a possibility.

01. OnlyI follows 02. Only I, II and III follow
03. Only II, I follow 04. Only I11, IV follow

05. None of these

HI:

Tl AT SATHRTORET 2

T AT LAF T &)

HAT G B AHTITG, e

T LAH T2 2

Ao

1) T+t fEam gwahg 81 99 2l

I0) % T % AT 7 21 T T TATIAT
D) FT< A+ HHE T 2

IV) 71 A % &5Ug B 1 U TATaT 2

01. et [ SITHTOT FAT & 02. a1, 1T 3 11 SITHe0T F3d &
03. et 11, I STEe Fd & 04. FFe 111, [V STHET Fd 5

Solution for Question 17

eng

Q-18

eng

05. it i 478
/
planets

? -

astercids

\

Statement:

Some monkey are frogs.

No frogs is lion.

All lions are tiger.

Only tiger are snake.

Conclusion:

I) All monkey can be tiger.

IT) Some monkey not being lion is a possibility.
III) No tiger is snake.

IV) All tiger being frog is a possibility.

01. Only I follows 02. Only I, IT and III follow
03. Only II, I follow 04. Only I11, IV follow

05. None of these

Hq:

P gaT HeF &l

S Haw AT Tl 3l

T 9 2T B

FaT T T 2

IBREAF

I) T+T 27 9T g1 A B

1) F; 92X F AT T 2 T TF GH1EAT 2

Ans Key: 5



IID) 7% it T |77 781 2

IV) TfT a1 3 Hes g il UF TH1EET 2l

01. Fae [ ST FAT 02. Fae I, 11 = [ STIHT0 F3d &
03. Fae II, I ST Fd & 04. Fae 1L, [V FTHIT Fd &
05. =% T 1S TE

Solution for Question 18

eng

Q-19

eng

Q-19

hi

Statement:

Some bikes are cycle.

Only a few cycle are train.

Some train are not bike.

All bike are ship.

Conclusion:

I) Some ship are train.

II) No train being bike is a possibility.
III) All ship being train is a possibility.
IV) Some train are not cycle.

01. Only I follows 02. Only L, IT and II follow
03. Only I1, 111 follow 04. Only II1, IV follow

05. None of these

FY:

G ATSH AT 2|

FAT FG Bl ATSHA oA &l

T & ATF L L

Tt are forg )

o=

1) % STETST 2 &

I0) TS 27 3 FT2H 7 g1 1 U FqEAT 21
I T STETT % & g T T F97aT 2
1V) % 3 ArEfHe T2 8|

01. e [ SITE0T F2AT & 02. e I, I = 111 STa20r F3d &
03. 3 I1, 111 ST 3 & 04. Fae 1L, IV ATHIT Fd &
05. 7% 1S T2

Solution for Question 19

eng

Ans Key: 5

Ans Key: 3



Q-20

eng

cycle

train

Statement:

No plans is ideas.

Only a few ideas are memory.

Only a few memory are plane.

Some plane are digital.

Conclusion:

I) All digital not being memory is a possibility.
II) Some plans can be memory.

IIT) All digital being idea is a possibility.

IV) No idea is memory.

01. Only] follow 02. Only I, IT and 111 follow
03. Only II, I follow 04. Only I11, IV follow

05. None of these

FA:

EIERIEGILAEE IR ]

FAA 5 2l =TT AHET 2

FAT FZ ol HHART AT B

g faum R g1

sy

1) @+ft RfSreet 3 AT 7 21 it UF F97aET )
I0) FE AT HART &1 Fhd 2

) T+t R fSreer ¥ = g i ua gsrEmT )
IV) &1 fa= A9 981 21

01. e [ SN FIAT & 02. & I, I1 S 111 S0 7 2
03. e I, [T ATHT 7T & 04. Fae 111, [V STHET F4d 5
05. =% T H1E TE

Solution for Question 20

eng

Ans Key: 2



Passage for Question 21, 22, 23, 24, 25 (ST-2047RRBPOMAINS(21-25R)2020)
eng Passage

Study the following information carefully and answer the questions below.

In a certain code language,
‘INDIA DIFFERENT STATES?’ is written as ‘%9T, #9T, @8N’
‘MAINTAIN YOUR ELIGIBILITY is written as ‘!3T, $6V, &5Y’
‘DIFFICULTY MAKES RESPONSIBLE’ is written as ‘#6Y, !8S, *5S’
‘DIVIDE SECURITIES REGULARITY” is written as ‘#9V, %6T, *"1Y”

hi Passage

Frafafaa TTasTd &1 eamgd® AeagT w1 A TA= FRgag vt F s

At e W g,

‘INDIA DIFFERENT STATES’ FT ‘%9T, #9T, @8N’ % &7 & forar Srar g
‘MAINTAIN YOUR ELIGIBILITY” #T “13T, $6V, &5Y’ % =9 ¥ forar Smar g1
‘DIFFICULTY MAKES RESPONSIBLE’ &T ‘#6, 18S, A58’ % &9 ¥ for@T SraT 2
‘DIVIDE SECURITIES REGULARITY’ & “49V, %6T, MY’ % &7 | forar Smar 21

Q-21  Whatis code for ‘SYSTEMATIC’ word?
eng

01. 98T 02. $8T
03. #y 04. %6Y

05. None of these
Q-21  ‘SYSTEMATIC’ 9% % o0 IS FT &2

hi
01. 9%g8T 02. $8T
03. #4Y 04. °%6Y
05. it & 7S
Solution for Question 21
eng Symbols-
[ D S E Y M R
@ # % & $ I A
Numbers: Even number of letters in the word * 6 = addition of digits
Odd number of letters in the word * 7 = addition of digits
Letters: Select the letter which has highest place value in the word.
hi qaltE-
| D S E Y M R
@ # % & 3 ] A

HEamd: areg & e Y §H GE&AT = 6 = HE) 1 AT
e & e 6 @AY d&ar « 7= S HT AT

HE: IH HE T 99T F{ [0 e & 3oaaH TG A 81

Ans Key: 4



Q-22

What is the code for the word ‘IMPORTANT INFORMATION’?

eng
01. @91, &3T 02. #7X,#27
03. @9T, @5T 04. &S8T, &4W
05. None of these
Q-22 @58 ‘IMPORTANT INFORMATION’ % forT e 747 82
hi
01. @91, &3T 02. #7X,#27
03. @9T, @5T 04. &8T, &4W
05. it & A1 7
Solution for Question 22 Ans Key: 3
eng Bymbals-
| D S E Y M R
@ # % & $ | A
Numbers: Even number of letters in the word * 6 = addition of digits
Odd number of letters in the word * 7 = addition of digits
Letters: Select the letter which has highest place value in the word.
hi gells-
| D S E Y M R
@ # % & 3 ] A
wEaTt: g A eRT Y FH GEAT =+ 6= 3P H1 AT
weg FH IR AT AYH I e 7 = R F AT
HEW: W NER FT 944 T (0HT UG, H FoIaH TIET A §1
Q-23 In the given code language, what is the code for ‘&3R’?
eng
01. ENGLISH 02. ENGINEER
03. FUTURE 04. INTERN
05. None of these
Q-23 fRUwUHE 9T H, ‘&3R'F U e =T 2
hi
01. ENGLISH 02. ENGINEER
03. FUTURE 04. INTERN
05. =it & s
Solution for Question 23 Ans Key: 2
eng Symbols-
| D S E Y M R
@ # % & $ ! A
MNumbers: Even number of letters in the word * 6 = addition of digits
Odd number of letters in the word * 7 = addition of digits
Letters: Select the letter which has highest place value in the word.
hi galis-
| D s E Y M R
@ # % & 3 ] A

HEard: areg & el Y §H HE&AT » 6 = B AT
e H e Fr RAYH &4 « 7 = FH HTAET

eI 3T HeW FT 947 H [oI0HT g, # Io9aH TG 7 §1




Q-24  Whatis the code for the word ‘INTELLIGENT’?

eng
01. #G 02. @sT
03. &3R 04. ~3T
05. @6M
Q-24 5% 'INTELLIGENT' % forw & /7 872
hi
01. #4G 02. @5T
03. &3R 04. ~3T
05. @6M
Solution for Question 24 Ans Key: 2
eng iSymbols-
| D S E Y M R
@ # % & $ | A
Numbers: Even number of letters in the word * 6 = addition of digits
Odd number of letters in the word * 7 = addition of digits
Letters: Select the letter which has highest place value in the word.
hi gelis-
| D S E Y M R
@ # % & 3 ] A
HEAIe: reg & Hewl Y §H GEAT » 6 = HH FTANT
eg H e AT AT FEAT o 7= R HTART
HET: 30 HeR FT TG H [SH0HT U, H IeaaH TUHT AT §1
Q-25 In the given code language, these '#6T, 19N' are code of which words?
eng
01. MOMENT COUNT 02. FURTHER PROCESS
03. DATA MINING 04. DATA STRUCTURE
05. None of these
Q-25 & TE = WIOTH, T 46T, 19N' Foret arsat & oo e 82
hi
01. MOMENT COUNT 02. FURTHER PROCESS
03. DATA MINING 04. DATA STRUCTURE
05. = FATE A
Solution for Question 25 Ans Key: 3
eng Symbols-
| D S E Y M R
@ # % & $ | A
Numbers: Even number of letters in the word * 6 = addition of digits
Odd number of letters in the word * 7 = addition of digits
Letters: Select the letter which has highest place value in the word.
hi gells-
| D S E Y M R
@ # % & 3 | A

gEard: reg # HeRY Y WH HEAT » 6 = HEY H AT
reg # e AT AT TEAT » 7 = FHE FTART

HETT: 3 HET FT 94T H [oI0HT =g, # IoUdH TG A g1



Q-26 Study the following information carefully and answer the questions below.

eng
Six person A, B, C, D, E and F are sitting in a circle facing outside. Who sits immediate right of F?

I) B sits second to the right of D. B sits between A and E. F sits second to the right of E.
II) A sits immediate right of E. Only one person sits between C and D. F sits second to the left of B.

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement I alone are not sufficient to
answer the question.

03. Ifthe data either in statement I alone orin ~ 04. If the data even in both statements I and II together are not sufficient to answer the question
statement II alone are sufficient to answer
the question.
05. Ifthe data in both statements I and I
together are necessary to answer the
question.

Q-26 fAETET ITAFTE FTATHLE S ATIT FL AT FETATTHT F STLRN

. g =ARE A, B, C, D, E 3T F 9Tg¥ 1 01T 4@ Fah UF g § 9% 8| F ¥ 3 a0 hid 927 82
I) B, D ¥ 370 gAY ¥4 9% 927 81 B, A 3T E % o= # 9371 g1 F, E % T[T 37T THIT 9247 2
IN) A, E % 1% 213 927 g1 C 3f1¥ D F &= Fad U ATk 927 g1 F, B % 10 gAY ©I9 9 927 gl
01. =7f3 e [T 32T sTahel W97 T IAL & % 02, 7T FAT 11 FT ST bl T T ST & o (o107 978 2, etk w1 [ | 30 1w Ter wor &7
fore ooty g, Sl e 1§ fyg o e I I F forw g te 987 B
5T T 3T & o [oIT TAqTT 7871 21
03. {77 7 FIT 1 AT FAT I FT TeT stobed 04, % o [ 0T 11 T o 32T T 7 3L &4 o (o70 oTq 81 &
5T T I & F o1 IF7H 2
05. =rf3 e [ 37 11 T F 22T T 7 39
T % forr g=ta )
Solution for Question 26 Ans Key: 1
eng
1) ) Casgl Case 2
- C /D <0 F
A
A
A + - P
hi
1) 1) Casgl Case 2
- [ /D w2 F
A
A
A : s -

Q-27 Study the following information carefully and answer the questions below.

eng
There are nine people M, N, K, H, G, L, Q, P and D in the family. Who is the father of G?

I) K is the brother of N who is married to M. N is the daughter of G. Q is the brother of G.
ID) P is the father of L, who is the sister-in-law of H. L and G are sisters.

01. Ifthe data in statement I alone are sufficient 02. Ifthe data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.



03. Ifthe data either in statement I alone orin ~ 04. If the data even in both statements I and II together are not sufficient to answer the question
statement II alone are sufficient to answer
the question.

05. If the data in both statements I and I
together are necessary to answer the
question.

Q-27 AEiEd ITHHTO FTATMLE S AETIT FL A= fETATTHT F STLRN

TRFAIT A TATM, N, K, H, G, L, Q, P stTD &1 GHFTIRAqT*:IT 8?2

D) K, NFT9TE g, S fame M & gan 81 N, G #1 31 €1 Q, G FT 9IS 3
IN) P, L =7 foa1 8, St H Y [freet-za-a1f 21 L 3T G 98+ 3|

01. 7rf FHo1e [ 3T 2T el W7 T 3T o % 02. T FAT 11 FT T2 (bl T T IAL & o (70 TATH &, STt Ha [ | 27 70 27 751 77
forw ooty g, Sl e 1§ fg o e IAL 39 F forw gty 7 g
T5F T 3T & o [oIT TATT q21 2

03. {7 7 FAF 1 AT FAF I FT TeT stobed 04, T o 1 S0 11 1 o 2T T 7 IAL &4 o (o70 qoig 81 &
T T IAL I o o1 g7 2

05. orf3 e [ 3% 11 T F 22T T3 7 Iq
39 % oo g7t 2
Solution for Question 27 Ans Key: 2

eng

Q-28  Study the following information carefully and answer the questions below.

eng . ) . N
Six people M, N, O, P, Q and R got different marks. What is the position of N?
I) O has the lowest marks. Q's marks are more than R but less than M. The marks of P are less than Q and N.
II) O's marks is more than Q but less than R, which is placed fourth from the top. P got the highest marks.
01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement II alone are not sufficient to
answer the question.
03. Ifthe data either in statement I alone orin ~ 04. If the data even in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.
05. If the data in both statements I and II
together are necessary to answer the
question.
Q-28 fAETEd ITAFHTO FTEATALE S AETIT FL AT FETATTHT F STLIN
hi

TE ARTM, N, O, P, Q 3T R il ST 37e et §1 N T T #7971 22

I) O % Ta% FH 3% 7 g1 Q F i R & o7 g Afohd M T FH g1 P F 3% Q 3T N ¥ F:H &
II) O % 3% Q ¥ (T ¢, ATk R & % g, Fordr ofi & <1y e 92 T@7 7147 81 P 7 3gaw i+ fAer 2

01. 7f FHo1e [ 3T 2T el W T 3T o % 02. T FAT 11 FT T2 (bl T T IAL & o (70 TATH &, STt Ha [ | 7 70 27 757 7
fore wte 2, Sat Fae 11 H fRu g 2y I 3 5 forw wate wEt 8
5T T 3T & o [oIT TATT 7571 2

03. =rf a7 7 Fo [ AT FAT N FT 2T e 04 T T2 [ 3% [ 1 % 2T W7 7 3T & F for aiq 487 §
5T T 3T & o forT a7ie gl



Solution for Question 28

eng

Q-29

eng

05.

1)

1)

1)

Ife oA [ T 11 291 o 2T I T I
39 & forT ot gl
Ans Key: 4

M/N
M/N

P/R
P/R

Case 1

N/M
N/M

M/N

M/N

P/R

P/R

Case 1

N/M

N/M

R

)

Q

Study the following information carefully and answer the questions below.

Six person A, B, C, D, E and F are sitting in a straight line facing north but not necessarily in same order. How many persons are sitting between A and B?

I) Only one person sits between D and E. A sits second to the left of F, who sits one of the extreme ends of the line. B is not an immediate neighbor of E
and A.
IT) C sits third to the left of E. Only one person sits between E and D. A is the neighbor of B.

01.

03.

05.

If the data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.

statement II alone are not sufficient to

answer the question.

If the data either in statement I alone orin ~ 04. If the data even in both statements I and II together are not sufficient to answer the question.
statement II alone are sufficient to answer
the question.

If the data in both statements I and II
together are necessary to answer the
question.

et IaaTh # 1 e\ E® qegaa FiL AT frgag w6 s
T ATE A, B, C, D, E 3T F 3T T AT U HILT 3@ | 95 & AT Arae= i (5 9 61 %7 | gl A 3f¥ B ¥ a1+ o =4f< 9 €2

I) D 31T E % f1= #ae U AT 95dT gl A, F % 973 31¥ ZET 93T 8, S T@T & ATad G0 H § TF 92 J3a71 g1 B, E 3T A &7 qTehTe TSI6T gl

2l

1) C, E ¥ aTt =Y #09 7% 21 E 37 D ¥ &= 33 UF =71F 35a7 21 A, B F7 72047 21

01.

T FIT [ FT 2T Tl T FT I & & 02, T FAF 11 T TT el W FT 3T & % (o710 TITH &, STt FA [ 7 30 70 T2 w7 1
foro gty &, St Foa 1§ R e 3ar I I F forw ot 927 2
5T T 3T & o [oIT TATH q21 21



03. AT FAT [ ATFAT I FT 2T ot 04, 7T o [ 0 11 T 2T T 7 IAL a4 o (o0 gt /g1 8

T T IAL & & o7 AT 2
05. fx o1 [ 37 11 TAT F ST T 7 3T
39 % forg ate g
Solution for Question 29 Ans Key: 3
eng ]
B C E A D E
| I | | |
Il) case |
|
C A/B AB D
case |l
1'
C D £ A/B A/B
hi 1)
B C E A D F
| I | | | I
) case |
|
C A/B AB D
case |l
1'
C D £ A/B A/B
Q-30 Study the following information carefully and answer the questions below.
eng

What is the position of M with respect to Z?

I) M is to the west of G and north-east to the K. W is to the south of T.

II) M is to the east of L. N is to the north of M. Z is to the north of N.

01. Ifthe data in statement I alone are sufficient 02. If the data in statement II alone are sufficient to answer the question, while the data in statement I
to answer the question, while the data in alone are not sufficient to answer the question.
statement I alone are not sufficient to
answer the question.

03. If the data either in statement I alone orin ~ 04. If the data either in statement I alone or in statement II alone are sufficient to answer the question.
statement II alone are sufficient to answer
the question.

0S. Ifthe data in both statements I and I
together are necessary to answer the
question.

Q-30 fAufafag ITaFTd F T ATLE S AETIT F< L= Feg w39t F 3R
hi

Z % ae § M AT Rt 82

DM, GF 9f5H H siT K F ITC-qa # g1 W, T ST §
IDM,LFTEHZIN,MFIATCHEZI Z, NF ST H gl

01.

03.

05.

TS AT 1 T 2T Shed ToF FT 3T & & 02. T FH2T 11 T 2T 37ahel T FT IAL & % (70 TATH g, STt A [ F &7 70 27 97 7
fore Tt €, et o 1§ R e 3ar IAT & F forw gty 7t g

5T T I & F (70 978 787 3

i AT AT FAT 1 ATFAT N FT 2T e 04, 7T 97 1377 11 AT % ST T HT 3L & o (o0 978 T8 &

5T T 3T & o (oI IF1e

e o [T 11 ST o 22T 97 FT 39
T F oo gate 2

Solution for Question 30 Ans Key: 2



eng

M =g

K
L
hi
Z
I Il. |
M G T
N
K W ‘
L M
Q-31 Study the following information carefully and answer the questions below.
eng
Statement- Over 26 crore accounts have been opened under Pradhan Mantri Jan Dhan Yojana across the country now. The Scheme was launched by the
Prime Minister Narendra Modi on August 2014 with the objective of covering all households with at least one bank account.
What is the following effect of the scheme that was launched by the government of India?
I. It may decrease the function of money lenders in the lives of deprived, who till now did not contain access to banking overhauls.
II. According to the customary banking system in India by giving that the banking occasion & insurance treatment to the entire counting the poor.
II1. When it maintains the customary banking system in India by giving that the banking occasion & insurance treatment to the entire counting the poor.
01. Both I, I and III 02. OnlyIandII
03. Only IT and 11T 04. Only III
05. None of these
Q-31 FefiEg ITHHTa &1 E & AeTIT F< st LA™ FETAT T % STLIN
FAT- 3T T I H TETTHAT ST & ST % T2 26 FE F AT @I GIed T & | TATTHAT 8% Tl T 3R, 2014 T FH F FH UF 9F
GTd | THT T2 FT Fa< FF 6 3297 H 6 TISTHAT T FATT T T2
AT HERTY G Q0% 6l T JoA1 &7 Aeferfed § & F:7 7979 82
L. T Af=aT o STa § €9 SUTLATATS & FTF il HF FT THdT g, S AT T A1 AGETd] a5 Tgd Tl Tad |
I1. 3 SIHTE, 9T § TIARI ST Jorredt ST 3 w8a &7 92 et & forg ST sraew $ire S 9= 31 8l
M1 ST Tg ST | TAWT ST SOrTedt 7 J970 T@ar g, S SR s@ew oife Sm7 ST=m @ a3 & et w1 {7 Sar 2|
01. oY [ 11T III 02. Faer [T I
03. 3t 11 3/ 11 04. Fae 111
05. =it i 7S Y
Solution for Question 31 Ans Key: 1
eng PMIDY scheme is a universal assignment for monetary addition to making sure access to economic services, specifically, Banking/ Savings and set down
accounts, allowance, recognition, indemnity, retirement fund in an inexpensive manner.
hi PMIDY FTSAT AT Farsti, faera &9 &, Sf&ET / s= T gt grat, 9=, Jrar, Afagfd, Fare=gi e £ v aw it s & ST 57
= forg wifess shre o forw ue e smmeade 2
Q-32  Study the following information carefully and answer the questions below.
eng

Statement- The National Testing Agency proposed by the Ministry of Human Resource Development, aims to bring “professionalism and competence” in
the field of conducting tests for higher educational institutions and benefit students as well? Which of the following may be the reason for the proposal by the
ministry?

01. To decrease the burden to the education ~ 02. For the betterment in the education system.
department.

03. Both 1and2 04. Only 1



05. None of these
Aafafag Saerh # 1 5qgds Fegaa w1 AT A= oy F s

FYT- G GHTLA TR GoTT g TEqTiAT g T USTHT T 3297 37 foreqor seer=i 3 forw afveqor 2 SirT it &7 Arsriead we
forT "SrreraTRRaT ST amar AT 82 Fefertad | & FIF |97 FATAT FIT TS FHT HTLT 21 T 82

01. forerT farTT =T et &1 & o form) 02. foreaT SroTTeAt ® Sga<y % form)
03. FET1 {72 04. FaeT |
05. =% T 1S TE

Solution for Question 32 Ans Key: 2

eng

hi

Q-33

eng

Establishment of NTA will free CBSE, AICTE and other agencies from conducting various exams and enable them to focus on their core areas and work
on improving the quality of education. Its main purpose is to bring reforms in the education system.

TAETT T SATIAT HSTUHE, TATSHIETS ST =T TSI THAT T (AT AT STATISTT el & HTh HAT 31T Irg ST T &A1 T T Hiwd el
STe FRreaT ¥ AT § T AT T FIH FIA § TeAH HI(7| THHT T 3297 FAET TOITedt | e A1 8

Study the following information carefully and answer the questions below.

Statement- During the workers laying cables underground in ABC locality, a main pipe supplying water to the houses burst and the locality was flooded.
What course of action should be taken by the authority of the society?

1. The authority should take an action against the workers who are working on that area for not completing the work on time and fine should be charge on
them.
II. The concerned authority should immediately take an action and start repairing the damage.

01. Only I course of action follows 02. Only II course of action follows
03. Either I or II course of action follows 04. Neither I nor II course of action follows

05. Both I and II courses of action follow

Aafrfag Saerh F 1 ey Fegaa w1 AT AR R wst F s

FAA- TATHT a1 H AT S arer A0t % 0, 990 § I A7 g F3 arelt U G 159 e AT 37 T § a8 o7 T JH1 6
STTERT T AT L ATS, AT ATRT?

L ITFEr2or 1 39 ATl F [aaTE Fars F1 A0 ST 39 &7 I8 FH1H FY T § 0T T FH QI Tel F3 & [0 ST I I AT AT

ST AT
11, SEFET ITTEFT T A FILATS FLAT ATRT ST THATT il FLFAT & FHAT AU

01. et FTLATS | AT FAT & 02. Faet FTLATS 1 STTET FLAT &
03. ITqr FTLATe [ AT FT AT FXcdt g 04, T AT FIEATS [ 3T T 1 11 STTET FcAT &
05. &< FHTEaTs 137 11 STTET0T Fat &

Solution for Question 33 Ans Key: 5

eng

hi

Q-34

eng

As the locality is getting flooded by water, immediate action should be taken to the authority and make it start repairing. And the compensation should be
asked by the company since its workers did not done their work properly because of which outburst happened.

ST T =aT § I 9T 77T 8, TTTEE0T &l TohTd AT FEdl AT 0 ol 38 UTAT F FIAT ATRU| 3T HATEST HIAT & HRIT ST ATR0
FATTh 38 AT STTAT FTH 216 | A5l 1647 2T, e F71eor foese gar =m

Study the following information carefully and answer the questions below.

Statement- Releasing the ‘Road Accidents in India — 2016’ report, the Road Transport and Highways Minister said more than 400 people lost their lives
daily on roads in road accidents at night.

Which of the following could be the cause of death in road accidents at night?

I. One of the most leading causes of road accidents is distracted driving.

II. Drunk driving or driving under the influence of any drug is one of the most dangerous causes of road crashes.

II1. Many people prefer to travel in the night rather than in the day.

IV. Wet roads are slippery, and hence they can be fatal for the vehicles as the wheels lose their traction on wet roads.

01. OnlyIandII 02. Only L, Il and T
03. AllL II, Il and IV 04. Only IV

05. None of these
Aafrfad STasT F 18 TeT9 L AR frTTT s’ & I[N

FYA- AT H T=F THATSN - 2016 "=t OIS AT 39 5T, A2 T(ae T ToAT FAT 7 FgT o Tq § 92 geA1e § Tsmr 400 & Afaw



SN AT ST =7 E
Raferfd & & w19 T | 92 gHeATslt § #id F7 FTE07 2T Thal g2

L. FEF HEATS & qaE T FIUN H § UTF ¢ faAtoa grafam

I1. FoFft oY 237 3 soma § o STefE AT STefahT A gHeATsl & Hae @a<dTs HI § 9 UF g

II1. FET & AR & F a1 Td § JTAT FHIAT THE Fd &
IV. et T2 e a6 2t 8, 3T soferT 3 areei & fore =mae 21 @ & Fi T i3 e gt 9% o=t Fdor |r 39 2

01. 3 ST 1l 02. et I1 31 11

03. =+ 1, I1, 111 32 IV 04. FaT IV

05. i 778
Solution for Question 34 Ans Key: 3
eng All are the main reason and cause of the road accident. Because of this reason now-a-days the ratio of accidents in India is increasing day-by-day.
hi T TSF FHEAT h H&T FIIT 3T HIIT 2| TH HI0 F FF WA H gHEATA T AT (oAl fad T@dr 1 &l gl

Q-35  Study the following information carefully and answer the questions below.

eng
Statement- Education has been a problem in our country and lack of it has been blamed for all sorts of evil for hundreds of years. Half the country does

not even today have access to proper education, and only a small fraction can go to university. Which of the following substantiates the given statement?

01. The lack of schooling and poor education ~ 02. India needs to embrace the internet and technology if it has to teach all of its huge population, the

have negative effects on the population and majority of which is located in remote villages.
country.

03. This was changed with a constitutional 04. The second central scheme is the Indian Certificate of Secondary Education (ICSE). It seems that
amendment in 1976 so that education now this was started as a replacement for the Cambridge School Certificate.

comes in the so-called concurrent list.

05. None of these
Q-35 fufafag Srasrd w1 eamgdE® sregaa w2 shTA= fegaw st F 3w

hi
FIA- AATTAR A H THAAEATIRI AT TARTANTT AFST AN 4 GHT THTL AT LS 6 (AT RFEAITCR| 3E 0% TTHA0F AT
Stra frar 9 &, AT Faa uw Frerar da & Fatearaa arawar @) Frafafaa F @ stvar oo sga Fr gy sare?
01. vty forear 7 FHT v @ forar 1 02, 9T &7 Zevde T TR &7 0= T sraeawar g 7fx S8 oot aefl a<t swaray w1
STTEEAT 3T 9T I¥ THTLHT THTT wETeT &, forad & srferter gzer WAt § fRua B
TEAT B
03. =H 1976 § UF HaeTi= derred & arF 04, TH 1976 | UF HAGTAF TG F AT TG (AT TAT =T qAT1eh T2eAT ST TATHTAT qHacT Gt
FEA T AT o7 AU FeAT ot FATHLAT H e
AT AT H AT
05. =7H ¥ FIE Tol
Solution for Question 35 Ans Key: 2
eng This statement substantiates the given statement as it mentioned that India needs internet and technology if it has to teach all population in remote villages
which is also mentioned in the given statement that Half the country does not even today have access to proper education, and only a small fraction can go
to university.
hi TE FAT (X0 7T FoAT AT I FIAT © FAIh THH Ioold 64T AT 2 156 AT Fl ST ST TR 61 AGLTHAT  ATS I ZLEATS & Tial §
T AT AT TR @ S T S T g § off Ieera o A 8 15 s 3o % are et | St forer 9% ugw 991 8, oY Fae U grer av
et Faraferermer ST aear 81

Passage for Question 36, 37, 38, 39, 40 (ST-2047 RRBPO MAINS (1-6) 2018)
eng Passage

Study the following informations carefully and answer the questions given below.

Seven friends Aana, Bini, Dev, Qim, Tom, Wiki and Vizili live in a hostel’s room one by one from Monday to Sunday. Each friend has only one bag and every bag’s
colour is different viz. Red, Green, White, Blue, Yellow, Orange and Black but not necessarily in the same order.
Tom does not live in a room on Wednesday and Saturday and his bag colour is Blue.

Vizili lives in a room on Friday but does not have a Black colour bag.

A friend who has a bag of Green colour lives in a room on Monday.

A friend who lives in a room on Thursday does not have a Black colour bag.

Qim’s bag colour is White and Wiki lives in a room on Tuesday.

The one who has a Yellow colour bag lives in a room immediately before the friend who has a bag of Orange colour.
Neither Wiki nor Vizili has a bag of Yellow and Orange colour.

Dev does not live in a room on Saturday.

There is only five days gap between Bini and the one who has a bag of Green colour.




hi Passage
ot STasTd &1 eamgd® qeqaaT L T A= frgag v w s

ara Zred o1, B, 39, Fm, 2w, A e Rt e & e 9% uE-uw wa g F w9 H 2d g1 T (T 6 I fad U 9 g s
TTA ST T SERT-3TT T - AT, ZLT, e, AT, TeT, ATafT ¥ srerr 8 i wah g7 %7 § Tt 921 2
T AT 7T AT T FAL § q51 T2aT § ol 0 a7 T 7 AT 2

fafSreft ephaTe 1 F#AY # TEar 8§ Al S 9T FT T A7 T L 2

T e foreeh ST T BT g7 g JIHaTE &l FL § TZaT 2

T ZIET ST I[FATE AT FHL § TZqT 8 I T HTel W /T 7T T8l gl

FLH F ST T 7 T%a ¢ 37T Faehy wrerame &1 &9 | Tgar g

S =t 3 O diet 37 7 ST €, 98 FL W SH I1ed | Qe Tgol TgdT g o 9T ATt 3 &7 &8 2

T 7 fahT sirT 7 Y fAforett 3 e dier sife areft [T F1 SR B

T afRETT T FHE | TS LT 2l

o 3T o T g W FT AT 8 F = g o= R T eiav 8

Q-36 Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?
eng

01. Dev - Black 02. Aana-Red
03. Tom - White 04. Aana - Orange

05. Vizili- Red
Q-36  TeAforted o= § & =912 et [T T & UF 91919 8 ST SH0 39T UF G4 a9dT & 98 U Hi-91 ¢ ST 94g o gated Tai 82

01. 3 - & 02. AT - AT
03. ziw-a%e 04. =T - ATy
05. fferfer - =t
Solution for Question 36 Ans Key: 5
eng DAY FRIEND BAG COLOUR
MON DEV GREEN
TUE WIKI BLACK
WED am WHITE
THU TOM BLUE
FRI viZILI RED
SAT AANA YELLOW
SUN BINI ORANGE
hi = =) FTFT I
AT Ry T
FEAT 7 THE
FATE it T
g 9T e
T fasft AT
Q-37 Which of the following friend’s bag colour is Black?
eng
01. Vil 02. Wiki
03. Aana 04. Bini
05. Tom
Q-37 fA=fofaa & & e 2rea &7 71 FHrer 82
hi
01. fafefer 02. 3t
03. T 04. fat
05. =g
Solution for Question 37 Ans Key: 2
eng DAY FRIEND | BAG COLOUR
MON DEV GREEN
TUE WIKI BLACK
WED QM WHITE
THU TOM BLUE
FRI VIzZILI RED
AT AANA YELLOW




Q-38

eng

eng

[ SUN

BINI | ORANGE
fa= = T FT T
HATerETT ey T
AT A ThHT
YTFATE el | @
CIEEI T e

What is Vizili’s bag colour?

01. Green

03. White

05. Black

FafSretT 3 SR T 41 AT 82

01. =z

03. H%z

05. =rerT

Solution for Question 38

DAY FRIEND BAG COLOUR
MON DEV GREEN
TUE WIKI BLACK
WED am WHITE
THU TOM BLUE
FRI VIZILI RED
SAT AANA YELLOW
SUN BINI ORANGE
& e Eukaka
AT [EEal FTAT
ECEIEs I T
AT fafsfer T
s AT frem

Q-39

eng

Who among them lives on Monday?

01. Dev
03. Vil
05. Aana

ITH | FHIF AT FHI Tgar g2

01. =9

03. fafsrfer

05. 3mET

Solution for Question 39

eng

DAY FRIEND BAG COLOUR
MON DEV GREEN
TUE WIKI BLACK
WED am WHITE
THU TOM BLUE

FRI VIzILI RED

SAT AANA YELLOW
SUN BINI ORANGE
& e Eukaios
LEGEIR e T
CCEI EEu) THE
TFATT et | A
gfeTe EEl e

02.
04.

02.
04.

02.
04.

02.
04.

Orange
Red

Bini

3

Ans Key: 4

Ans Key: 1



Q-40 Qim lives in a room which of the following days?

eng
01. Sunday 02. Tuesday
03. Monday 04. Wednesday
0S. Saturday
Q-40 fAwfoted Gt & & o5 i @ w92 ° @are?
hi
01. fFam 02. AT
03. HHAT 04. FeraTe
05. erfam™
Solution for Question 40 Ans Key: 4
eng DAY FRIEND | BAG COLOUR
MON DEV GREEN
TUE WIKI BLACK
WED QM WHITE
THU TOM BLUE
FRI VIZILI RED
SAT AANA YELLOW
SUN BINI ORANGE
hi = e Eukala)
GILEIRY = =
HAeTETT EEal e
ECEIR Eo ) THE
FATT et T
arfaTe T e
SEEI fareft At

Passage for Question 41, 42, 43, 44, 45 (ST-126 CWEPOMAINS (121-125) 2015)
eng Passage

Read the following information carefully and answer the questions given below-

An organisation consists of 1500 employees.The ratio of males to females is 17:13.All the employees work at five different levels named L, II, III, IV and V. 28
percent of females are at level .18 percent of the males work at level I1.One fifth of the males work at level V.The ratio of males to females at level Il is 3 : 2.25
percent of the total number of employees are working at level IIl.Females working at level V are 60 percent of the males working at the same level.18 percent of
the females are working at level IV .The remaining females are at level I11.16 percent of the males work at level I and the remaining males are working at level IV.

hi Passage
Rerferiad ST FT AT gE® STead= F A= (30 T0 77 o I Z11o70-

T TS | 1500 FHATN g1 T TAT FIGAT T FHL: AT 17 2 13 1 T Fd=mr 5 s &30 1 10 10, IV JAT V 92 w10 F:7d g1 28 Sfaerd Aigars
T [ 92 T FAT g1 18 Tfaerd T80 #=q [ 9% F71F F:7d &l 1/5WWVWMW%|WHWWWI@WWWQT AAATT 3 : 2 B |/A
FHATRAT FT 25% T [ 9 FT T gl TE V I FHTH HA ATl HIgAT3H #hl AT, 89T &L I FHTH FH aTel TEUT T ST FT 60% g1 18 Tiaerd
AIZATT TG [V 9% HTF FA g1 O ATgaTs &< [ 9% FTF FdT g1 16 Taad T8 T2 [ 9% F1F F3d § TAqT A9 T &2 [V 92 F1F F:7d g

Q-41  What is the number of males working at level I11?

eng
01. 228 02. 136
03. 253 04. 163
05. 270
Q-41 =TT I 9T F1F FIA a1 TEUT T HE&AT FT 52
hi
01. 228 02. 136
03. 253 04. 163
05. 270
Solution for Question 41 Ans Key: 1

eng Required no. of males working at level IIl = 375 - 147 =228



Q-42

eng

T M1 9T FTF FX Tl AFLTF TEUT 1 el HEAT = 375 - 147 = 228

Number of males working at level IV forms what percent of the number of females working at the same level?

01. 139.32 02. 169.12
03. 123.42 04. 150.62
05. 150.62

AT IV 9T FHTF F2 qTel TEUT T ST, HHTE T T HTT HTA AT HIGATl T G T v giderd g2

01. 139.32 02. 169.12
03. 123.42 04. 150.62
05. 145.32

Solution for Question 42

eng

Q-43

eng

e= 163
117
= 139.316 = 139.32% (approx)

mﬁgsri%r9m=% 100=139.316

= 139.32% (FIT¥)

Required percentag 100

What is the number of females working at level V?

01. 147 02. 182
03. 102 04. 117
05. 152

ATV I FTH FIA ATAT AIGAT T AT F97 82

01. 147 02. 182
03. 102 04. 117
05. 152

Solution for Question 43

eng

hi

Q-44

eng

Females at level V =° 01 U:]m =102

wvwn'%?—lTIiJUmZJm =102

Number of males working at level I forms approximately what percent of total number of the employees in the organization?

01. 22 02. 13
03. 18 04. 9
05. 28

AT 1 9T FTF T g1 UL T HEAT,HST § HT FIA ATl A HHATILAT 2T TEAT T TTAT bl Ticerd g2

01. 22 02. 13
03. 18 04. 9
05. 28

Solution for Question 44

eng

Q-45

eng

Required percentage = 135 - 100
1500
=9.06 = 9% (approx)

gofte afderd= %= 9.06 = 9% (FT¥)
ca

What is the total number of females working at level II and IV together?

01. 81 02. 118

Ans Key: 1

Ans Key: 3

Ans Key: 4



03. 264 04. 219

05. 164
3'45 AT 1 qAT IV § T T T F2 1T AT T E6eam 7 82
01. 81 02. 118
03. 264 04. 219
05. 164
Solution for Question 45 Ans Key: 4
eng Total no. of females working at level II and IV together =102 + 117 =219
hi AT 1 TAT IV 9% TF T HT FIA ATAT HigaATal il el §eq1 = 102 + 117 =219
Q-46 In a party each guest sakes hand with each other only once and total number of handsakes were 136 .Find the total number of guests in the party.
eng
01. 15 02. 12
03. 17 04. 23
05. None of these
Q-46  UF IE H TAF HEHT UF gAY F 9T A UF a1 g9 (0aATd 2 ST |/ 136 AT e AT S 21 TET 7 ot HgATAT 1 €eq71 A7 H 1o |
hi
01. 15 02. 12
03. 17 04. 23
05. v i 7S
Solution for Question 46 Ans Key: 3
eng 7C,=136
hi Tc=136
Q-47 A sum of money with compound interest amounts to Rs. 133100 in 3 years and Rs. 161051 in 5 years. What is the rate of compound interest per annum?
eng
01. 7% 02. 10%
03. 13% 04. 15%
05. 17%
Q-47  UF gAY FFwATE AT 92 3 AT F 133100 FF 37 I a9 | 161,051 FIF 1 AT Z19Tqad Fhg fag s3TT T T2 FAT 2
hi
01. 7% 02. 10%
03. 13% 04. 15%
05. 17%
Solution for Question 47 Ans Key: 2
eng According to question-
(. r Y 161051 (. r Y [(11Y
[Tt | = e | =t
. 100) 133100 ' 100/) \10)
r=10%
hi TATATT
(. r Y 161051 (. r Y [(11Y
[Tt | = s |
. 100) 133100 ' 100/) \10)
r=10%
Q-48 . . 1 . .
eng Reeta completes a journey 1 hour before at the rate of 6 km/hr. but at the rate of 8 km/ hr she completes that journey 2 — hours before. Find the distance
4
of journey.
01. 15km 02. 20km
03. 25km 04. 30 km
05. 35km
Q-48  rar uFm ATAT, 6 FRET / ST T FTH | T T T FA & 3 8 TR/ HeT i 7% | 24 He Tge T HIAT g 1ATAT gL AT Hifor|



01. 15 fy 02. 20 f3=fy

03. 25 ffy 04. 30

05. 35t
Solution for Question 48 Ans Key: 4
eng

Required distance = il xi E—l (=30 km.

g8-6 4 )
i gl = 68 x| 2 _1=30 Feh
-6 \4

Q49 Ty, pipes can fill a tank in 37% minutes and 45 minutes. Both are opened. To fill the tank in 30 minutes when will second pipe
eng 2

turned off ?

01. 5minutes 02. 8 minutes

03. 9 minutes 04. 10 minutes

05. 12 minutes

Q-49 IV UTST UF F &l 37Y% Hde oY 45 Hae ¥ 92 9%d 1341 @i 3 S 81 & &1 30 e 7 w3 & o ga< arsa &1 59
hi FT FHLAT AT 2

01. 5=z 02. §fime
03. 9fime 04. 10 fame
05. 12 i\
Solution for Question 49 Ans Key: 3
eng time taken by the first pipe = 3,1-1:2 minutes
. . o 2 4
Filled part of the tank in 30 minutes by first pipe = —_ <30 = _
. _. 41 oo s .
Remaining part= 1~ = _ , Required time = ;1-\ — § minutes
S ]
\ 45 )
i e qrE g T EnE = 37 Lo e
% ¢
TEA T2 TR 30 fiie # 3 A ey w2 3022
75 5
W%m‘r=1_i=l sruferd awT = ”1" =ofime
54 o5 |
\ 45 )

Q-50 A yearly payment to a servant is Rs. 9000 plus a turban. The servant leaves the job after 9 months and receives Rs. 6500 and a turban, then find the price
eng of the turban.

01. 700 02. 900
03. 980 04. 1000
05. 1050

Q-50  UF FAH T ATUF aa9 9000 FFT TAT UH TWET | ATHT 9 HAl AT ATHL T BIE 2T § 3T 6500 FTH 3T TFH TWET TTH FIAT &, AT TIET Al
hi AT FATE?

01. 700 02. 900

03. 980 04. 1000

05. 1050
Solution for Question 50 Ans Key: 4
eng Let the price of turban = x Rs.

9000 + x
12

According to the Question — his monthly income =

LN



Income of 9 months= -~ = =6500+x? x=Rs. 1000
12

hi ATET WIET T T = x T 21

o % AT - AT AT oy = 2000 ¢ X
17

9 sy = 2200 © X — 6500 + x =>x = 1000 FTF
12

Q-51 A shopkeeper sold his goods at 20% profit. If he had bought it at 10% more and sold it for Rs. 14 more, he would have gained 25%. Find the cost price

eng of goods.
Rs. 40 Rs. 60
Rs. 80 Rs. 90
Rs. 100
Q-51  UF THMETE A ATAT °HIA 20% ATH I¢ o7 {2471 T 3897 38 10% ATF 0% GL1a1 grarv ¥ 14 =, Ff&F § F=1 2rar, v S8 25% FT BIaar g
hi BIAT| TG T AW A AT DI
40 %. 60 F.
80 %. 90 F.
100 ¥.
Solution for Question 51 Ans Key: 3
eng Let the cost price = Rs. 100
S.P. at 20% profit =Rs. 120, C.P. on 10% more =Rs. 110
And P at25% profit= 119%123 _ ;- &
100
Difference between selling prices = 137.5 — 120 =Rs. 17.5
C.P. on Rs. 17.5 more = 100, C.P. on Rs.14 more = M =380 Rs.
175
hi HIAT AT {7 = 100 &.

20% ATH T [T o = 120 ., 10% SATe 9 ama 9o7 = 110 F.

e 25% ey o famg e = 1109125 oo o

100

3o et 3 A S = 137.5 - 120 = 17.5 = WZM'

Passage for Question 52, 53, 54, 55, 56 (ST-20 SBI (101-105))
eng Passage

Read the following pie chart and table carefully and answer the questions asked.

Number of employees in different departments of Compaq and Sony company.

Ratio of males and females in different departments of both companies.

] Compa Con

Compaq Sony

m Dl =Dl
mD2 B D2
mD3 m D3

D4 D4
m D5 mD5
m D6 m D6

Total number of employeas=13000 Total number of employees=17500




—__-——
o
————
R -
L > -
N v c

hi Passage
Refered 91E-91e SiT Aolt T LA ga® AeqATTHT A= T T T7 6 I A9

D1
[ Revi
m i3

m D5
u D6

el HEGTRAT & TEAT=13000 el FAARAT B HEdr =17500

FIEIF AT T o FAferer e & 2w oie wfger &1 s

mD1
mDZ
m D3

ks
u D&

Q-52  Whatis the total number of females in department D3 of both companies?
eng

01. 2880 02. 2940
03. 2950 04. 2910
05. 2980

Q-52 1 FFAAET % faramr D3 § wigarst 7 Fo wear #4782

01. 2880 02. 2940
03. 2950 04. 2910
05. 2980

Solution for Question 52

Ans Key: 4

eng Total number = 1440+1470
=2910

hi FT HEAT = 1440+1470 = 2910

Q-53 What is the average number of males in department D5 and D6 in Compaq?

eng



01. 1602 02. 1596

03. 1612 04. 1628
05. 1702
Q-53  FF0F ¥ 9T DS ST D6 § UL T Sf|a HeAT #4782
hi
01. 1602 02. 1596
03. 1612 04. 1628
05. 1702
Solution for Question 53 Ans Key: 1
eng Average number = %
=1602
hi S T = % = 1602
Q-54 The number of females in department D1 in Sony is equal to number of males in which department of Compaq?
eng
01. D2 02. D4
03. D3 04. D6
05. None of these
Q-54 = IWRT D1 § AigATSA T HE@AT HIE0E FHIAT 5 g T § Ol i 67 % aveay 82
hi
01. D2 02. D4
03. D3 04. D6
05. =i F A TS
Solution for Question 54 Ans Key: 3
eng D3
hi D3
Q-55 What is the respective ratio between the number of females in department D1 in Compaq and that of females in department D4 in Sony?
eng
01. 1:2 02. 3:2
03. 3:1 04. 2:3
05. None of these
Q-55  FiF0F § foamr D1 § Aigasit & #ear o G 7 fFranT D4 # Jfgarsti it 5T F S HAL: A #7471 82
hi
01. 1:2 02. 3:2
03. 3:1 04. 2:3
05. it i 7S Y
Solution for Question 55 Ans Key: 2
eng Ratio =1500: 1000=3:2
hi ST = 1500 : 1000 =3 : 2
Q-56 What is the difference between the number of females in department D5 of both companies?
eng
01. 170 02. 160
03. 168 04. 162
05. 165
Q-56 =T FEAAT % faramr D5 & wfgaredt 7 @@ F di= waw #7417 32
hi

01. 170 02. 160
03. 168 04. 162
05. 165

Solution for Question 56 Ans Key: 5



eng

Q-57

eng

Difference = 525 -360 = 165

H+d¥ = 525 -360 = 165

Quantity I = 8x7y>+2x%y*-5 Quantity I=6x%y0-3x%y>+5 if x>0 & 27<0

01. Quantity I >Quantity 1T 02. Quantity I< Quantity II
03. Quantity I = Quantity II 04. Quantity I = Quantity II

05.  Quantity [ = Quantity II
i 1= 8x3y>+2x*y4-5 afmETTI=6x0y0-3x2y>+5 if x>0 & y<0

01. ofmmor 1> 9R®ETT I 02. ofHToT I< gfETTr I
03. gfmToT [ < gR®ToT I 04. gfigror > gfEmr I
05. ofmmor [ =9fEmor I

Solution for Question 57

eng

hi

Q-58

eng

Quantity I < Quantity I1
TRATT [ < TR 11
If the c.p. of 12 bikes and 15 scooties is 2475000.

Quantity I-find the c.p. of 7 bikes and 12 scooties if the c.p. of 3 bikes is equal to the c.p. of 5 scooties.
Quantity II-find the c.p. of 5 bikes and 9 scooties if the ratio of c.p. of cost of 1 bike and a scooty is 3:2.

01. Quantity I = Quntity II 02.  Quantity I = Quntity II
03. Quantity I < Quntity II 04. Quantity I >Quntity IT

05. Quantity I = Quntity II or no relation
TFfT 12 T2 17 15 FRET 1 T o7 2475000 %. 3 |

TRET - 7 AT T 12 Tl FT /T GoF A FI00 IS 3 IISF FT 7 7T 5 TRl & F7 oF F a9 gl |
TRHAT [1-5 T2 3T 9 TRl FT HF oA AT 170 TTE | TTSH 3T | TRl % HF JoF T 01T 32 F |

01. gfmTor [ < gf®moT I 02. gfmor [ > gfEmor I
03. @ [ < gR®TT I 04. gfmTor [ >gfRHTT 11
05. fwTor [ = TfwTT 1 37 F18 Freaws T

2l

Solution for Question 58

eng

Q-59

eng

Q1=1673600 (Approx)
Q2=1237500

Q1 >Q2
QI=1673600 (FAT+T)

Q2=1237500

Q1 >Q2

Find the compund interest on r5.7500 for 6 month.

Quantity- I -when the rate of interest is 16 % per anum compounded quaterly.
Quantity-II- when the rate of interest is 15 % per anum compunded bimonthly.

01. Quantity I >Quntity I 02. Quantity I <Quntity II
03. Quantity I = Quntity II 04.  Quantity I = Quntity II
0S. Quantity I = Quntity II

7500 F. 9T 6 AT * 10 kg fag sATSl AT HIorT)

TRHAT [ - ST 537 7 16 % i a9, [AATet 37 80
TRATO-1I- S/ =37 37 15 % 9 a9, fZarer 27 gn

Ans Key: 2

Ans Key: 4



01. ofmTor [ >t 11 02. wfwToT [ < TfHToT 11
03. ofwToT [ > TfeTor 11 04. ofwToT [ < ofHToT 11
05. ofmTor [ = ofHTor 10

Solution for Question 59

eng

Q-60

eng

Q1=1.04x1.04-1
Q2=1.025%1.025%1.025-1

so Q1 >Q2
Q1=1.04x1.04-1
Q2=1.025x1.025%1.025-1

I Q1 > Q2

A boat takes half time in moving a certain distance downstream than covering same distance upstream.

Quantity -I- find the time taken by boat to cover 40 km in still water if the speed of current is 12 km/hr.
Quantity -II-find the time taken by boat to cover 28 km in upstream if the speed of current is 21 km/hr.

01. Quantity I >quantity II 02. Quantity I < quantity IT

03. Quantity I=quantity II 04.  Quantity I= quantity II

0S. Quantity I = quantity IT

T AT HT 7T % v et [t @ 7 w2 § 0 99 o F AT a9 g3 O T § o9 GHT T ST AT 2

gfRETT - 919 T 40 TRt ot STer § St § o "9 s friore Ff ey £ =rer 12 Geiser gn
AT 11- 9719 T 28 TFHT Sedwarg ST S 69 1 Fiore 7fe o i =Jrer 21 et e

01. ofHmor > 9fRHTT 1 02. gfHTor [ <gRHTOT I
03. IRHTT = TREAETT IO 04. TfmTT [ < gfHmr I
05. gfmTor [>T 11

Solution for Question 60

eng

Q-61

eng

Q-61

D_2
1

9 a
o1>02

12 men can complete half work in 12 days while 15 women can complete the full work in 24 days.

Quantity-1 In how many days can 3 men and 5 women complete the same work .
Quantity- 2 In how many days can 5 men and 2 women complete the same work.

01. Quantity I > Quntity II 02. Quantity I = Quantity II
03. Quantity I = Quantity II 04. Quantity I < Quantity II

05. Quantity I = Quantity IT
12 ST ey e A7 12 57 § 07 F7 ahar g Fath 15 Al @ Fwd w24 TA d i e awd g |

Ans Key: 1

Ans Key: 1



HTAT - [ -3 a3 5 AT I 1 7 e e & 07 7 9% 8 2
HTAT - 11 -5 ATEHT 317 2 AT 36T 13 7 o & & Oof #7 a9 g 2

01 9= 1>Hm=T 11 02. qETI<AMTI
03. gETI=9HmE=TII 04, HETI<HATATII
0S. gETI>dmETll

Solution for Question 61

eng

Q-62

eng

Ql=41.14
Q2=43.63

Ql1<Q2
Ql=41.14

Q2=43.63
Q1 <Q2
Find out the wrong number in number series given below.

1 2 5 14 41 124

01. 2 02. 5
03. 14 04. 41
05. 124

% FeaT JEaret § Tod ST A1 S|

1 2 5 14 41 124

01. 2 02. 5
03. 14 04. 41
05. 124

Solution for Question 62

eng

Q-63

eng

it 4P

+1 43 +9 +27 +81

1
l

Therefore number 124 is wrong and it must be replaced by 122.
1 2 5 14 41

| Il Il Il 11

+1 +3 +9 +27 +81

T TEAT 124 99 € 3T 39 122 T AfAemioa F:3A1 gRm

Find out the wrong number in number series given below.

1 2 6 15 31 56 91

01. 31 02. 91
03. 56 04. 15
05. 2

e T fEerelt § Terd ST T Fier)

1 2 6 15 31 56 91

01. 31 02. 91
03. 56 04. 15
05. 2

Solution for Question 63

eng

hi

Add 12 2% 32 4% 52,62 So, 91 is wrong and it must be replaced by 92.
12 22 32 42 52 62 STV o1d: 91 AT g ST TH 92 FIXT TTAATAT FHEAT I

Ans Key: 4

Ans Key: 5

Ans Key: 2



Q-64

eng

Find out the wrong number in number series given below.

1 2 6 24 120 620 5040

01. 5040 02. 620
03. 120 04. 24
05. 6

% et fEerelt § Tod ST A1 FIer)

1 2 6 24 120 620 5040

01. 5040 02. 620
03. 120 04. 24
05. 6

Solution for Question 64

eng

Q-65

eng

1 2 6 24 120 [620] 5040
I | | I | | |
X2 x3 x4 x5 xB x7

Therefore number 620 is wrong. And it must be replaced by 720.

1 2 6 24 120 5040
I | A | | |
x2 x3 x4 x5 xB x7

T /AT 620 T g1 ST 387 720 FTT Taeafog Fwar grm

Find out the wrong number in number series given below.

4 10 22 40 64 84 130

01. 22 02. 40
03. 64 04. 84
05. 130

% FeaT JEdret § Toq ST A1 S|

4 10 22 40 64 84 130

01. 22 02. 40
03. 64 04. 84
05. 130

Solution for Question 65

eng

Q-66

eng

T T T iig
+6 +12 +18 +24 +30 +36

Therefore number 84 is wrong.And it must be replaced by 94.
LP P e

+6 +12 +18 +24 +30 +36
: HEAT 84 AT g1 3T TH 94 FIT TTAATIAT FEAT T

Find out the wrong number in number series given below.

105 8 60 30 0 -45 90

01. 0 02. 85
03. 45 04. 60
05. 30

e Tt SfEeTelt § Terd AT A frir)

105 8 60 30 0 -45 90

Ans Key: 2

Ans Key: 4



01. 0 02. 85

03. -45 04. 60
05. 30
Solution for Question 66 Ans Key: 1
eng Subtract 20,25,30,35,40,45 from successive numbers. So 0 is wrong and it must be replaced by -5.
hi 20,25,30,35,40,45 FT FHITHTE HETAT 3 0 AT g M 38 .5 T TAeAT9d FHIAT T
Q-67 The average score in an examination of 10 students of a class is 60. If the scores of the top five students are not considered, the average score of the
eng remaining students falls by 5. The pass mark was 40 and the maximum mark was 100. It is also known that none of the students failed. If each of the top
five scorers had distinct integral scores, the maximum possible score of the topper is :
01. 100 02. 87
03. 95 04. 96
05. 99
Q-67  UFFATH 10 FTAAT FT 39T 60 § T ofrd o= BT % T 9 Fa=me ot S a1 et 67 ofera S &3 &1 S & | 7fE ot o9 40 § 377
hi ATerRd® 3% 100 8 | 3T T TTAT SITAT & T FIs BT B Al IaT g |37 o 97+ TR o T AT A79e: Th1T A7 7eael i ATy g9
THTE ?
01. 100 02. 87
03. 95 04. 96
05. 99
Solution for Question 67 Ans Key: 5
eng 10 students have scored 600 marks amongst them, and no one is allowed to score lesser than 40 or higher than 100. The idea now is to maximize what the
highest scorer gets.
The 5 least scores have an average of 55, which means that they have scored 55 x 5 = 275 marks amongst them. This leaves 325 marks to be shared
amongst the top 5 students.
So now, we have the lowest value that the top 5 can score, which is 55. The others have to get distinct integer scores, and as few marks as possible, so
that “e” gets the maximum.
So,55+56 +57 +58 +e=325
e =99 marks
hi ITH " 10 BT 600 31 TOTT T o 37T TS AT 40 H F7 3T 100 & STTAF 375 AT 6 AT § | 1 g6 Tg IAT T 8 T SFAH THIT FATE |.
TEH FH 5 TRIT HT 379d 55 8 | Foreent 7aaaa g 6 Segid S0 F 55 x 5 = 275 &7 ThIT STo1d 64T § | T 325 3 T TIH 5 FTAT | fAerse wear
z|
T 9, AT ITH T BIeT 7 ¢ ST TIH 5 AT T T g STITh 55§ | AT AT AT - AT TUT 37 STISq H7d & S ora w7 999 gl
T 8 | A “¢” IFAT 3 TITH AT ¢ |
So,55+56+57+ 58 +e=325
e =99 &
Q-68 According to a survey, 30% of the total FDI goes to Gujarat and 20% of this goes to rural areas. If the FDI in Gujarat urban areas, is $72 Million, Then
eng find the amount of FDI in rural Maharashtra which attracts 50% of the FDI that comes in Maharashtra , which is 20% of total FDI?
01. $3000000 02. $30000000
03. $300000 04. $ 30000
05. $30
Q-68  TF T F ATATT , HT FDI FT 30% T[SIET Tl SITAT & 3T T 20% FTT TTHIOT &= H ST & | FT< [T % 2t &= § FDI | stearait
hi et $ 72 frfora=r €, 7 wgrerg & Jrfior & H o JTeT FDI AT 3 1% HgRTE | A aTer FDI T 50 % JT0T &7 H S71aT € i gy #
T FDI T 20% T AT )|
01. $ 3000000 02. § 30000000
03. $300000 04. $30000
05. $30
Solution for Question 68 Ans Key: 2
2 5
cng -F?walooxixi:EO
80 30 100 100



30x1000000=30000000

hi -, 100 100 20 50
T2x—x—x—x——=30
80 30 100 100
30x1000000= 30000000
Q-69 Rahul sells a Iphone to Kush at a loss of 20% who sells it to Saurabh at a profit of 25%. After finding some defect Saurabh return it back to Kush but
eng could only recover Rs. 4.50 for every Rs. 5 he had paid . Find the amount of Saurabhs' loss if Rahul has paid Rs. 87500 for the Iphone ?
01. 8750 02. 17500
03. 17250 04. 9250
05. 12450
Q-69  ITEA HA HI 20% BT IT T AT - TFIF ST & 3T AT IH G Fl 25% ATH T a9 47 & [H @ET AT 214 G FET T BT [ I aT9H FY
hi AT & e IO AT TeAF 5 F . F [0 4.50 %, ITH 1l & | FIET ¥ g A1 ¢ ATS WA F 39 M3 - BA F1 87500 ., H @A 47T |
01. 8750 02. 17500
03. 17250 04. 9250
05. 12450
Solution for Question 69 Ans Key: 1
23
= S?:‘OOxﬂx]Lxﬂ:STiO
100 100 100
hi 25
ST:7~IZ]IZ]><E x]'” xﬂz 8750
100 100 100
Q-70 In a hostel the room numbers are numbered from 101 to 130 on first floor, 231 to 270 on the second floor and 371 to 390 on the third floor. If the room
eng occupancy was 60% on the first floor, 40% on the second floor and 75% on the third floor. If the charges of the room per month is 1100, 1500 and 2000
for first floor , second floor and third floor respectively. Find the average annual income of a room in the hostel?
01. 1836 02. 18360
03. 1836000 04. 986.4
05. 9840
Q-70  UF FiEA H TAT T T FHAL 6 G@AT HT FATH 101 7 130 § ,F92 T T2 FHIF 231 F 270 &, T€L T 92 371 7 390 7 | T 60% FHY TIT T
hi T ATETEIT B, TAL A T 40% 3T 6L qATA TT 75% FHL AR | AT FHN T T aT T997, TG o T 7 % forw wAer: 1100, 1500
AT 2000 F| TTF FHL AT ATIAF AT T 1 FHorT|
01. 1836 02. 18360
03. 1836000 04. 986.4
05. 9840
Solution for Question 70 Ans Key: 5
en 75
& 30xﬂx]100+—10><£><1500+30><'—”><2000
100 100 100 %12 = 9840
90
hi 75
30 xﬂxl 100 +40 xﬂxlioo + 20— 2000
100 100 100 %12 = 0840
90

Person

A

B

C

Passage for Question 71, 72, 73, 74, 75 (ST-2054RRBPOMAINS(51-55M)2019)
eng Passage

Refer to the table and answer the given questions

Type of Interest  Principal(P) Amount (A) Years Rate of Interest(%)

Compound — _— 2 2
Simple — ik 4 ==
Compound 40000 — & 4

Simple = 39000 3 —

Compound 20000 — — 4




hi Passage
FIAT FTHIA 7 AT FRTTT I3 6 3T
=fts | e Eer | eeA(P) |ferea)| o [sEedism)
A Thdier 2 2
B STEOT 4 -
C Tqeharer 40000 z 2 4
D T A 59000 3 -
E Tqhares 20000 3 4
Q-71 If the ratio of interest rate of E to that of D is 2:3 then what is the Principal (P) of D?
eng
01. 30000 02. 40000
03. 70000 04. 50000
05. 60000
Q-71 = E &1 D | 4TS &2 &7 Aq1E 2: 3 2, A1 D FT e (P) FT 82
hi

01. 30000 02. 40000
03. 70000 04. 50000
05. 60000

Solution for Question 71

eng

Q-72

eng

Q-72
hi

R(%)=4;_<3=ﬁ

Principal =x
xx3Ix6
T 100
x = 50000

=5%000

ar(%)=4;_<3=ﬁ

HAGT =X
xx3Ixb

T 100
x = 50000

= 59000

If the interest is compounded yearly for three years then what is the amount to be earned by C?

01. 46497.56 02. 40497.56
03. 44597.56 04. 44697.56
05. 44994.56

Ffe =aTs 9 |1 % o arfies &9 F awafa §, a1 C FIT A il ST areft TTier #4471 872

01. 46497.56 02. 40497.56
03. 44597.56 04. 44697.56
05. 44994.56

Solution for Question 72

eng

Q-73

eng

Amount=p/1. " |
. 100

A =40000 x 1.04 x 1.04 x 1.04
A =44994.56

qqgT=p1+ |
. 100)

fr1eM(A) = 40000 x 1.04 x 1.04 x 1.04
A =44994.56

What is the Simple Interest (SI) of B? If the ratio of Principal of C to that of B is 4:5 and the rate of interest is 10% more than that of C.

Ans Key: 4

Ans Key: 5



Q-73

01. 6600 02. 8800
03. 4400 04. 2200
05. 11000

B T AL 5475 T 2?2 A2 B C & YA 7 AT 4: 5§ 3T 34711 72 C AT AT H 10% A1EF 2

01. 6600 02. 8800
03. 4400 04. 2200
05. 11000

Solution for Question 73

eng

Q-74

eng

Q-74
hi

= %x 40000 = 50000

The rate of interest is 10% more than that of C.
R(%) =—1><£=4.—1%
100

S 50000x4.4x4
100

=8800

P = 40000 = 30000

3
=TT #iT 7% C & =41 it s F 10% AferF g
R(%) =—1><%=4_4%

Sil = 50000x4.4x4
100

=8800

If the Principal (P) of A is 20% more than that of E, then What is the amount of A?

01. 24694.60 02. 32584.60
03. 24584.80 04. 24969.60
05. 30684.60

TfT A FT qALT (P) E  20% rfar g, v A ¥ rfer s/ 82

01. 24694.60 02. 32584.60
03. 24584.80 04. 24969.60
05. 30684.60

Solution for Question 74

eng

Q-75

eng

Q-75

Principal(P) of A = W: 24000

Pl

o
100!
A= L 100, ‘
e e
=24000! 1+— | =24969.60
100
A e = 20000612000
100
P 1+1%}
A= * 4

el 4 72
=24000] 14-=_ | =24969.60
. 100

If amount of D equals to five times that of his Principal then what is the Rate of Interest (%)?

01. 122.22% 02. 144.44%
03. 133.33% 04. 155.55%

0S. None of the Above
T D T T I8 AT F T AT % F2Ta g q1 34T 27 (%) FT 82

01. 122.22% 02. 144.44%
03. 133.33% 04. 155.55%
05. =98 FFIE A

Solution for Question 75

Ans Key: 2

Ans Key: 4

Ans Key: 3



eng

Q-76

eng

Q-76

Amount of D = Rs.59000

Principal = x

Amount of D = 5x

5x = 59000

x= 11800

SI=59000 — 11800 = 47200

R= 47200x100
11800 =3

D =1 f=1ee = Rs.59000
gd =x
giﬁ ferege = 5x
5x = 59000
x= 11800
SI = 59000 — 11800 = 47200
R= 47200x100
11800:=3

=133.33%

=133.33%

Each of these questions consist of a question followed by information in three statements I, IT and III. You have to study the question and statements and
decide that informations in which of the statements is/are necessary to answer the question?

How many runs were scored by the team x?

I. Team x won the match by 42 runs.

II. Runs scored by team x and y were in the ratio 12 : 5.

III. Runs scored by x were 120 % of the runs scored by team y.

01. OnlyIandII 02. OnlyIandIII
03. OnlyI & either IT or IIT 04. Al IIand I

05. None of these
A= T T ot | A FAAT F AT F R/ AARITT 4T TS ¢ ATh! g o F:7A7 g 5wt § 8 7 a1 o St 39 3 & o
T &2

A x T F9TF T T HT TR F4T 472

I &9 x T 42 8= St

Il &9 x 3¥ y GTRT a9 T T4 6 Th1¥ T Jqa0a 1225

ML &1 37 g7 ST T T S/ & o FIRT 973 T3 T /7 120 Fiera =m

01. Far1sfiTl 02. Faer [T I
03. et [T T T 1L 3T 1L 04. =sft 1, 11 /¥ 10
05. =% T F1E TE

Solution for Question 76 Ans Key: 3

eng

Q-77

eng

Q-77

From I,

The difference of runs scored by winning and losing team is given.

From II,

Ratio of the runs of both teams is given.

So with the help of statement I and either II or III we can find out the runs scored by team x.

FAT 1 &, STt g5 2 ST¥ 21T g% 19 o G aa T T3 A1 7 ¥ (oaT 97 g 3 1§ A1 ST 6 A7 BT S0 (2T T47 | 3Tz FI7 1
ST AT AT 1 AT 11 3 1T &9 T T TR gH AT FHT T gl

Each of these questions consist of a question followed by information in three statements I, IT and III. You have to study the question and statements and
decide that informations in which of the statements is/are necessary to answer the question?

What is the speed of the train?

I.  The train crosses a signal pole in 18 seconds.

II. The train crosses a platform equal to its length in 27 seconds.
III. Length of the train is 270 metres.

01. OnlyIandIII 02. Only IT and III
03. OnlyIand I 04. Only III & either T or IT

05. None of these
A= o T ot | A FAAT F AT F R/ AARITT & TS g ATh! T8 o F:57A7 € 5 Foai § 8 7 A1 o Ittt 39 3 & o
TATH 82

TATET T AT FT 82

I TS UF O F 9e A7 18 Have § 9T Fdl g

II. ToRTTET SO HTE % a¥Ta awhid T 27 Jhve § I1C F3dT g
I YFTET T FaTs 270 HY 3



01. Faer3fiT I 02. et [1 AT 11

03. FFe [T 11 04. FFer NI sATATATIATII

05. =it i S Y
Solution for Question 77 Ans Key: 4
eng From | and I,

2710

Speed of the train = 8

=15m/s

From Il and Il

Speed of train = Sig =20m/s

27

hi wu= | 3R Ml 9,

Y F = :% =15%. /9.

Ho Il &= Il ¥,

Yo & A :w=20fﬁ./ﬁ.
Q-78 The questions given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the question?

What is the original price of the TV bought by Abhijit?

(I He bought it at 20% discount on the orignal price.

(II) He sold it to Amit for Rs 22000 and earned10% profit.

(IIT) If he had bought it at 25% discount he would have a profit 4 7%95 .

01. Onlyll 02. TandII or IlT

03. TandII 04.  Any two

05. None of these
Q-78 1= TRU U WeAT H A FAFT F ATEAH 8 g STARTLAT &1 TS & SIHT TE (0T FIAT & 136 FI7 FAAT § & TS ATHRET I & o (70 T8 82
hi

SATTSIT 5T F7 T T .47, 7 areaias goF #4787

(1) 3O T ATEATaH o F 20% T T G

(D) 38 AT T 22000 F. F F=T 37T 10% FT A1 978 T

(110) zrﬁagaﬁ%%gzq?@“ﬁwa‘r@rn%% T ATH ZIaTI

01. F=er Il 02. [T IIATII

03. 1371l 04. FrE T

05,z i 7S T
Q-79 The questions given below contain three statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the question?

What is the ratio of the ages of Reena and Sonam?

(@) 6 years ago their ages were in the ratio 3 : 4.

(II) After 2 years the younger one's age will be 85% that of the older.

(III) The sum of their ages is three less than twice the age of the older.

01. OnlyIand I 02. Any two

03. OnlyIandIII 04.  All together are required

05. None of these
Q-79 = U T W7 H A FAAT F ATEAH g SAARTLAT &1 IS & SIH] T (0T FIAT & 136 FI7 FAAT § & TS ATAHRET I G 6 (0 T8 82
hi

Q-80

LT ST FIH T A FT SATITT F47 82

(1) 6T Tgel ZIAT T AT FT STITT 3 : 4 2

(D) 2 3T AT Fre T A a2 AT AT T 85% FRMTI
(II0) FTT 6T 7 HT AT, T2 AT A F T 4 3 FA ¢

01. Fad 1T 02. =g ar
03. Fae [ 37 I 04. T4 sraeTF g
05. =H F F1E TE

Each of the following question consists of a question followed by three statements I, II and III. You have to study the questions and statements and decide,



eng

Q-80
hi

which of the statement (s) is/are necessary to answer the questions.

What is the share of one woman?

(D Rs. 5548 is divided among 4 men, 5 women and 2 children.
(II) Ratio of share of man to children is 5:3.

(IIT) Ratio of share of woman to man is 4:7.

02. Both II and III
04. AllL I and III

01. BothIand III
03. Any two
05. None of these

Fr=r F3w T e weAt § A FAAT F AIEAH 8 g SRl &7 TS § AT Tg (o w7 8 136 7 Fuer § & T Ay 397 3 F o

TATH g1 AT Fforu-

TF HIZAT FT TR 47 82

(1) 5548 %. 4 q=W, 5 AigaATeA 7 2 Fgi & faqia & s )
(D) =T T TFT % TRTH 5 : 3 FT AT 2

(IIT) AIZATSH T agT F TRT § 4 ¢ 7 7 ST &

01. S=TITI 02. T IFII
03. =rsar 04, T I, 1T III
05. =H ¥ IS TGl

Solution for Question 80

eng

Q-81

eng

From II and III —Ratio among of share of woman, man and children = 20:35:21

Share of women= %xﬁﬁmzzﬁﬁ
Share of one woman= ? =511Rs.
() = () = - AfZem, gy g geadi & 9 & 7= g = 20 : 35 1 21
AfZell &1 9RT = %xﬁs-m:zsss

T AR BT WRT = oes .

— =511
a

___,is an instrument of indebtedness of the bond issuer to the holders.

01. Bond
03. Derivative

05. None of these
_, gTERT o foIT a7 SITERd T o URIETdT T, TF 97e 2

02. Call Money
04. Mutual Fund

01. Fjve 02. i g1
03. At 04, AT FT
05. T® A #rE T

Solution for Question 81

eng

hi

Q-82

eng

Q-82
hi

Bond, is an instrument of indebtedness of the bond issuer to the holders.

JTE, G % [0 F1 AETHAT * FORIEqAT T, TF qTe gl

Ans Key: 2

Ans Key: 1

A sports gaming platform, WTF Sports has appointed cricketers and as its global brand ambassadors.
01. Harmanpreet Kaur and Suresh Raina 02. Smriti Mandhana and Virat Kohli
03. Poonam Yadav and M.S. Dhoni 04. Harleen Deol and Rohit Sharma
0S. Shafali Verma and Jasprit Bumrah
TS G AT HH, Tseq 0 T1ed 7 Frbest &7 E K8 FT STIAT AT Fie vermey g a2
01. ZZAASIT FIT fT Frer 7 02. =gfT wereT 3fT BT Frgar
03. gAY 7TEF ¥ UH.UH. g0 04. ZTAT T3 T TAfFT et
05. SrRTAT FAT ST ST TATE
Solution for Question 82 Ans Key: 1



eng Suresh Raina and Karampreet Kaur both are Indian cricketer .

hi G EAT IR FANT R ST ARA Fohopet 7

Q-83 As per Section of RBI Act 1934 ,RBI has the right to issue bank notes.
eng

01. 2 02. 20

03. 22 04. 24

05. 26

Q-83 s g §% arfat=aw 1934 #¥ gy F FAETE, AT T & 7 9 e T F F7 ATTFE )
hi

01. 2 02. 20
03. 22 04. 24
05. 26
Solution for Question 83
eng As per Section 22 of RBI Act 1934 ,RBI has the right to issue bank notes.
hi ATt e S At 1934 ¥ 9T 22 3 STHET, AT STd 8% &1 9 91 AT F F ATTH1 5
Q-84 Bancassurance is related to selling product.
eng
01. Deposits 02. Insurance
03. Gold 04. Locker
05. None of these
Q-84  FFeaE T Sy A 2
hi
01. ST 02. =T
03. =T 04. (T
05. gt & AT T

Solution for Question 84

eng Bancassurance is the selling of life insurance and other insurance products and services by banking institutions.

hi FARTTH ST HETAT GTT STt AT 3T 377 ST Iearal 3T qaret v fosfr 21

Q-85 Bharatanatyam is the dance form of which state?
eng

01. Tamil Nadu 02. Kerala
03. Sikkim 04. Karnataka

05. Andhra Pradesh
Q-85  w¥aATEIH [ TS T A AT 82

hi
01. qfiemrg 02. I
03. fifzw 04. Feteh
05. sfier gaer

Solution for Question 85

eng Tamil Nadu

hi TS

S

Q-86  Devaluation means -
eng

01. lowering of the value of domestic currency 02. appreciation of the value of domestic currency

03. issuing new currency in place of old 04. lowering of the prices of goods for export
currency
05. None of these
Q-86 AT FT Y -

Ans Key: 3

Ans Key: 2

Ans Key: 1



01, =¥ TaT % e ¥ F+H 02, =r¥ef & F T+ ¥ qfx
03. T HET F I 92 75 q5T AT Fear 04, Fia  forw awqent & qoa § w1

05. =it iy 7S
Solution for Question 86 Ans Key: 1
eng Devaluation means lowering of the value of domestic currency.
hi EEEREEIE PR IC EHE R R LI
Q-87 In Capital Market,the term ‘Market Cap’ is the product of —
eng
01. market price and authorised capital 02. market price and paid-up capital
03. market price and outstanding number of ~ 04. market price and shares,warrants
shares
05. 2and 4 only
Q-87  USIT AW H, HlHe 0 9157 T UFET 2|
hi
01. FTSITE qoF ST sTfersa it 02. FTSITE q&F ST FHAT Lot
03. IS qo oY et AT awETEear 04, FTS(E o o7 937, ae
05. FaT 23T 4
Solution for Question 87 Ans Key: 3
eng In Capital Market, the term ‘Market Cap’ is the product of market price and outstanding number of shares.
hi IS TSI |, HTHhe 7 9763 ATSTY god ST AN o0l Joh1aT ST T U+ 2|
Q-88 In India, the payment and settlement systems are regulated by .
eng
01. Payment and Settlement Systems Act 02. RBI Act
03. Nationalized Bank Act 04. SEBI Act
05. None of these
Q-88 WA H, AT ST MUe Yorett _ gTRT (A= grav gl
hi
01. 7T =i fAveT yorre srferfaasT 02. sreatems afafaw
03. TrgrEa § st 04. Tt srfafaaw
05. =9 FE AT
Solution for Question 88 Ans Key: 1
eng In India, the payment and settlement systems are regulated by the Payment and Settlement Systems Act, 2007 (PSS Act) which was legislated in
December 2007.
hi AT ¥ AT oY (e TOTfera, {ETan i< [ HoeT Sorett SAferf=s, 2007 (Foaus) Sraf=as & sfava afaatid i St @ SEeHr F
faa 2007 # T AT 4@
Q-89 In its annual report, which note has the RBI said not to print in 2019-20?
eng
01. 500 RS 02. 2000 RS
03. 100 RS 04. 50RS
05. 20RS
Q-89 ST AT RATE | et 7 o Ale &7 2019-20 H AT T 67 a1 ¥ &2
hi
01. 500 RS 02. 2000 RS
03. 100 RS 04. 50RS
05. 20RS
Solution for Question 89 Ans Key: 2
eng Reserve Bank of India has said that it did not print currency notes of 2,000 rupee denomination in 2019-20 In its annual
report.
hi

I Tt sfeh o T @ foh 38 2019-20 H 310+t aTfifeh fdté & 2,000 ¥ Har o i Hie T2 =)



Q-90

In which year did Bharat Van Mahotsav begin?

eng
01. 1950 02. 1955
03. 1985 04. 1990
05. 2001
Q-90 T aF AREd g ad F g
hi
01. 1950 02. 1955
03. 1985 04. 1990
05. 2001
Solution for Question 90 Ans Key: 1
eng President Ram Nath Kovind celebrated Van Mahotsav today with planting a Neem sapling in the President's Estate.
Van Mahotsav is an annual one-week tree planting festival which is celebrated in the country.
The unique festival was started in the year 1950 by Kanaiyalal Maneklal Munshi.
hi Tsgafel T 7Y hiferg I ST UsAfed Yo T =19 1 Gre RTe o Heledd T
I TEICHS U JTTNeh Toh HHTE T JETRI0T 30 & S Q=7 H FRIT S 2l
3 A TR 3T AT 1950 H SHeedTelret H-ehae 531t = 31 off)
Q-91 India’s first ‘Kisan Rail” run between Devlali in Maharashtra’s Nashik and will reach Danapur in
eng
01. Bihar 02. Uttar Pradesh
03. Gujarat 04. Maharashtra
05. Madhya Pradesh
Q-91 A & qEAT ‘T I HERIE F ATE H @Al h A A Aqdrg e ¥ A gt
hi
01. fgr 02. I I
03. SR} 04. #ERTY
05. e e
Solution for Question 91 Ans Key: 1
eng The announcement of running Kisan Rail was made in the budget.
hi ToRET 3 < ShT BT SIsie H AT 7T off|
Q-92 Name the former Australian captain who has become the ninth woman player to be inducted into the International Cricket Council’s Hall of Fame ?
eng
01. Alison Mitchell 02. Lisa Sthalekar
03. Ellyse Perry 04. Ebony Rainford-Brent
05. Isa Guha
Q-92 3 F AELIOMATE FHIA HT A9 AT, ST AT Fbbe 7fvwa  gier st ®w § orrfoet g arett /et wiger et a7 T 82
hi
01. ufera ferer 02. fordT =TT
03. wiers ot 04. TIHT TAHRIE-5E
05. 491 TaT
Solution for Question 92 Ans Key: 2
eng The ICC Cricket Hall of Fame recognizes the achievements of the legends of the game from cricket's long and illustrious
history.
It was launched by the International Cricket Council (ICC) in Dubai on 2 January 2009.
hi ICC Torehe Tt 31T WA fhohe o il TR IFER SITE™ & ©d o RIS oh1 SUITSLAT ohi TE=dT <l
30 2 ST 2009 1 ge1S H SR forhe afise (ICC) g it foharm mrarm o
Q-93 Name the Indian fast bowler who will be conferred the Arjuna Award for year 2020?
eng

01. Mohammed Shami 02. Varun Aaron



03. Bhuvneshwar Kumar 04. Umesh Yadav
05. Ishant Sharma

Q-93  SH AT IS TFEATS HT A FATSC S F 2020 F 7T S5 [ER  FEATHT T SITo?
hi
01. wrgene ot 02. =#uT S
03. AT AT 04. 33er ATEA
05. Serra erAT
Solution for Question 93 Ans Key: 5
eng The Arjuna Award has also been announced for cricketer Rohit Sharma.
hi The Arjuna Award has also been announced for cricketer Rohit Sharma.
Q-94 Name the Indian space scientist who has played a crucial role in drafting the New Education Policy 2020?
eng
01. K Kasturirangan 02. Roddam Narasimha
03.  Ashoke Sen 04. Ritu Karidhal
05. Anil Kakodkar
Q-94  SH A FAfvE FATF HT 19 Fars0 S 7 Frer T 2020 F7 THET T3 T § Ageaqor G [Fare 82
hi
01. % FEGaT 02. Trew FTfAwRT
03. o & 04. RgFREa
05. 7feet FTHISHT
Solution for Question 94 Ans Key: 1
eng K Kasturirangan is the former chairman of ISRO.
hi o QT 38U o Y6 = ¢
Q-95 Name the ministry which has inked an MoU with Ministry of Shipping to promote skill development in port and maritime sector?
eng
01. Ministry of Road Transport and Highways 02. Ministry of Defense
03. Ministry of Electronics and Information 04. Ministry of Skill Development
Technology
05. Ministry of Home Affairs
Q-95 39 HATAT FT ATH JAT2C {SH FTTE ST THRT & | HIA [AH1H il GTaT & 6 (70 TEISaret HATAT o AT FHATAT AT (6T 52
hi
01. F=F TREET i< TSAN JATaT 02. o7 HTer
03. ZorrgifAere ST gt S Rrehl #arers 04, Fyerer faewre warery
05. 27 T
Solution for Question 95 Ans Key: 4
eng Mahendra Nath Pandey Is the minister of skill development.
hi HEE AT UTS iTe forehre HAT &
Q-96 Name the person who has been appointed as a new Chairman of Indian Council for Research on International Economic Relations (ICRIER).
eng
01. Pramod Bhasin 02. Mohit Thukral
03. Raman Roy 04. NV Tyagarajan
05. Rajat Gupta
Q-96 3T =Tk FT ATH Farzy, oH AT AT AqaaT TR U (AL AT Faen) F T Teqe F G H 7w o641 7 2
hi
01. yHTT 7 02. HIRT gFTA
03. T T 04. T RIS
05. 5T AT
Q-97 Name the person who has been appointed as the new Election Commissioner of India by the Government of India?

eng



01. Sanjay Kothari 02. Rajiv Kumar
03. Trilochan Mohapatra 04. V.P.Joy

05. Rajiv Gauba
Q-97 39 =AT<H T AW TATIY OE T TLHTL FIT ARG & AU TG AIH 6 &9 H [+q<h 1647 AT 22

hi

01. &g F5TT 02. TS FATT

03. Brefr=e w2 04. F Y. g

05. TS TitaT
Solution for Question 97 Ans Key: 2
eng The Election Commission of India consists of three members. Which is described in Article 324 of the Constitution

hi IR 3 ate ST A1 FeEd BT 2| Sit fof | o 3Tgeesq 324 # A0 2

Q-98 Name the person who has been appointed by the Government of India as the managing director (MD) of the State Bank of India (SBI).
eng

01. Padmaja Chunduru 02. Ashwani Bhatia
03. Aditya Puri 04. Sandeep Bakhshi

05. Karnam Sekar
Q-98  3H =R T ATH AqTEY & ATLT ALHTT T ATLA 1T £ & (SBI) ¥ w4 fAersk (MD) ¥ =7  f7<h a7 21

01. 93T H7w 02. spearet wrfeT

03. srfee g 04. =t aeeft

05. FuiH TFHT
Solution for Question 98 Ans Key: 2
eng SBI, the largest public sector bank, was established on July 1955.

hi TN &1 o Holdl o 5ok T3S sh! TATHT 3hT S[eATs 1955 T 3h1 11 off)

Q-99 Name the person who has sworn in as the Prime Minister of the Republic of Trinidad and Tobago for a 2nd consecutive 5-year term?

eng
01. Chan Santokhi 02. Keith Rowley
03. Moses Nagamootoo 04. Mia Mottley
05. Hun Sen

Q-99  3H =T<F T AW TATSY AT AT GAL AL S A 5 FIEFTA 6 (70 BHATHETR ST SR TUTST F TLTTHAT 6 & H &7 A1 82

01. == sqret 02. =fiter Tt

03. TET AR 04. R Arewt

05. g7 T
Solution for Question 99 Ans Key: 2
eng Trinidad and Tobago is a country of Caribbean Sea.
hi frfraTa ST 2rert hiefor wmR o Ue xR

Q-100 Name the private sector bank which has launched a new initiative named ‘Gig-a-Opportunities’ to attract skilled talent that can work with the bank
eng remotely, from anywhere in the country?

01. YesBank 02. HDFC Bank
03. ICICI Bank 04. Kotak Mahindra Bank
05. Axis Bank

Q-100 =8 ST & F 5 &1 19 FATST o8 97 | Fgl o H, T H 5 6 G FIH HLA aTAT HIAA TATHATA HT SAHUT FEoA 6 (70 a FTIr-1-
hi ATHAAEST "ATHE TF 72 Tgd I H1 82

01. 19 5= 02. THSTUFRHAT §F
03. srEEtarEHtae 9 04. e wigsr dF
05. D ¥

Solution for Question 100 Ans Key: 5



eng Axis Bank is a leading private sector bank, headquarter Mumbai, old name was UTI .

hi uferee Sieh Uk S ST &1 T Sk @, qReATer §aT, QAT AT 2SS 9l

Q-101 Name the university which will be conferred the Maulana Abul Kalam Azad (Maka) Trophy 2020?
eng

01. Jadavpur University, Kolkata 02. Jawaharlal Nehru University, New Delhi
03. Anna University, Chennai 04. Banaras Hindu University, Varanasi

05. Panjab University, Chandigarh
Q-101 3¥ Frafaema™ 1 A Farsy S ST Tqa FATH ATATE (FTHT) Shr 2020 F TEATHT AT SIT?

01. e fasafa=mers, wrersrar 02. SreTETeTe Aew fasatammer, 7% et
03. 7= fEeafe=me, IS 04. I B frafa=me, T
05. bura FAATH, FEE

Solution for Question 101

eng Punjab University established on 14 October 1882.

hi TS foraferener™l sht ST 14 STHRER 1882 3l T8

Q-102  Pulitzer Prize-winner Shirley Ann Grau who passed away recently is a famous?

eng
01. Journalist 02. Architect
03. Photographer 04. Painter
05. Writer

Q-102 Tfere e fasar 9reft U I 1 Fee g g7 § g g2

hi
01. w=rhTY 02. FEgFT
03. BIENTHT 04. =T
05. ==+

Solution for Question 102

eng America's prestigious Pulitzer Prize was instituted in 1917.
It is given for special contribution in journalism and literature.

hi ST T IfafEd giefest grepr 1917 # & forar mm
T AT U Hifeed | foRy Amrar o fore fe=m St &)

Q-103 RBIinjects liquidity in the monetary economy of the country through .

eng
01. increase in SLR 02. decrease in Repo Rate
03. increase in Reverse Repo Rate 04. increase in CRR
05. None of these
Q-103 =mEEtaTE F HTEAH | 390 T Ao srforae T § qaeadr T 2|
hi
01. wHUwSR # gig 02. v =T FHT
03. Ry H iy 04. sz # 7f
05. =8 qFIE TRl
Solution for Question 103
eng Repo helps in increasing liquidity in the market.
hi AT AT H AT TET H & H2al gl

Q-104 RBI projects country's growth rate at --- per cent for 2020-21 -
eng

01. 4.50% 02. 4.00%
03. 3.50% 04. 2.50%
05. 5.50%

Ans Key: 5

Ans Key: 4

Ans Key: 2



Q-104  =meftams 7 2020-21 % forw Zer Y & 27 --- witerd srgamfRa 1 & -
hi

01. 4.50% 02. 4.00%

03. 3.50% 04. 2.50%

05. 5.50%
Solution for Question 104 Ans Key: 1
eng RBI has projected India's growth rate at 4.5 percent for 2020-21. In its annual report released today, RBI projected global

growth rate between 6.0 per cent and 7.6 per cent.

hi RBIH 2020-21 % 7T Wi shi forehrel aX 4.5 ST 3T STgHH TR 8] AT ST 19t a1fiies Rt #, STrsfians = <ifarsh forsmer a2 6.0 wfaerd 31k 7.6

fcrRTe o Sfter STTATHA il
Q-105 Real Interest Rate, is an interest rate that is adjusted for
eng
01. Inflation 02. Deflation
03. Reflation 04. Stagflation
05. None of these
Q-105 aTEqfas =47 2T, UF AT 3T g ford F form mamteE G = 2
hi
01. waTehifa 02. sroefifa
03. wyeEehitT 04. FETERITaSIT Hal
05,z 3 A
Solution for Question 105 Ans Key: 1
eng Real Interest Rate, is an interest rate that is adjusted for inflation.

hi FTEA T SATST %, U AT T ¢ o8 HRTERIT o Tory FRTATIT 6T 12T &)

Q-106  The longest river ropeway of India has been inaugurated in which state?

eng
01. Assam 02. West Bengal
03. Maharashtra 04. Tamil Nadu
05. Odisha
Q-106 AT & HEH AT &I AT T IFTeA o6 17 H FohaT 17 872
hi
01. =9 02. gfer v
03. HERTY 04. FfH=TTY
05. e
Solution for Question 106 Ans Key: 2
eng The longest river ropeway of India has been inaugurated in Assam on Brahmaputra River.

hi STRTYS T O 376 H M 3 et oeft 7t el 7 3gTe foham T 2

Q-107 The official logo of “Labour Bureau” was launched recently. Who among the following is presently serving as the Minister of State (I/C) for Labour and
eng Employment?

01. Mansukh L Mandaviya 02. Hardeep Singh Puri
03. Kiren Rijiju 04. Santosh Gangwar

05. Rao Inderjit Singh
Q-107 &% ST FT STAFTIE AN ST @l | Aed (AT T3T A7) A foried § | F1F aaq 7 =7 ST TS 057 7341 (1/ C) F &9 H F1d 7T 721 8?

01. qa’g@rq@rﬁe‘rﬁ'm 02. g‘(—rﬁqfﬁggﬁ
03. e fsfieg 04. FATT AT
05. <77 gl g

Q-108  Union Minister for Tribal Affairs, Arjun Munda has e-inaugurated “Tribes India Showroom™ in?
eng



01. Chennai 02. New Delhi
03. Mumbai 04. TLucknow

0S. Bangalore
Q-108  FETT AT WAL % HAT, S HIT 7 “TT2ed 24T 9w FT IgTed Ha12

hi

01. =g 02. 7 faeeft

03. ¥ 04. @93

05. &refe
Solution for Question 108 Ans Key: 3
eng Union Minister for Tribal Affairs, Arjun Munda has e-inaugurated “Tribes India Showroom” in Mumbai.

hi AT SIS HIHE & AT, ST YT 3 Hos § “ZT366 S Ten” o1 3872 fohal

Q-109 Whatis the currency of Vietnam?

eng
01. Dollar 02. Peso
03. Frank 04. Ruble
05. Dong
Q-109 I Ff a7 FT 2
hi
01. =f=ET 02. 99T
03. % 04, =T
05. =fr
Solution for Question 109 Ans Key: 4
eng 17th meeting of India-Vietnam Joint Commission held via video-conference.

hi - FerIaTe Teh ST 3hY 17 ot ek Aifed-oie o ATeas & TR 1 TS|

Q-110 What was the profession of Sameer Sharma, who has passed away recently?

eng
01. Journalist 02. Actor
03. Politician 04. Economist
05. Singer
Q-110 FHT awT FT 1A &l | e &1 747 9m o o7 e T = a2
hi
01. =TT 02. syfemar
03. TSras 04. seforraft
05. =
Solution for Question 110 Ans Key: 2
eng Sameer Sharma was a TV actor.

hi T I Uk et AfEaT 9

Q-111  Where is the Amangarh tiger reserve located?
eng

01. Madhya Pradesh 02. Rajasthan
03. Chhattisgarh 04. Uttar Pradesh

0S. Karnataka
Q-111  SH=EIE AT ATV Fgl F9q 82

hi
01. wey waar 02. TrsreerTT
03. BRETE 04. ITT T2
05. FAtesH
Solution for Question 111 Ans Key: 4

eng Amangarh tiger reserve is located in the Bijnor district of Uttar Pradesh state.



Q-112

eng

Q-112

Q-113

eng

Q-113

Q-114

eng

Q-114

ST STH ST I YT TS o T fofed § feorq 2

Which day is being observed by the United Nations every year as “International Day for the Remembrance of the Slave Trade and its Abolition™?

01. 25-Aug 02. 24-Aug
03. 23-Aug 04. 22-Aug
05. 26-Aug

T TP FIT gT AT "[ATH SATITL 31T I8 ITqAA & [0 SAqeigiy feae" & =9 § for faq aqmar s @ 82

01. 25 3F e 02. 24 3Eq
03. 23 e 04. 22 3Eq
05. 26 3 TEq

Which day is being observed by the United Nations every year as International Day of Remembrance and Tribute to the Victims of Terrorism?

01. 23rd August 02. 19th August
03. 21st August 04. 20th August
05. 22nd August

T Y BT 2¥ A1 AAUEIT 00T [2ad ST AAHATR & TSdT Hl AT F TF H 6 (& AT ST 82

01. 23 3 02. 19 3
03. 21 3FTeT 04. 20 3ETeT
05. 22 g

Which financial instrument’s price is derived from a different asset?

01. Share 02. Bond
03. Debenture 04. Underlying Security

05. None of these
T ¥ Tl AT T G U ST THET § 979 2T 22

01. 997 02. 9=
03. =g 04. safdfga stasia
05. =a® A *rE T

Solution for Question 114

eng

hi

Q-115

eng

Q-115
hi

Underlying Security is a financial instrument whose price is derived from a different asset.

sfeifea sfagfa v var fxfrr amem g S gog e stent ety § yma gar 2l

Which is a nominal value of a bond?

01. Premium Value 02. Par Value
03. Discount Value 04. All of these
05. None of these

T AT AT &7 iR o7 82

01. iftrr deg 02. W ie

03. feenmse Jog 04. I 74t

05. =% FH1E TE

Solution for Question 115

eng

hi

Q-116

eng

Par Value is the nominal value of a bond.

T 9, T F 3iTha g7 &l

Ans Key: 4

Ans Key: 2

Which of the following application has introduced an innovative feature ‘Open API Service’ to help the people, businesses and the economy in its efforts to

return to normalcy?



01. Aarogya Setu 02. Paytm

03. Mobikwik 04. Flipkart
05. WhatsApp
Q-116 Fofafad & g Uitaserd § AR, AGHTIT ST STHAaeT FT G ot # dled & TITH § HEE F4d & (o0 UH o= e Service
hi AT TS FaT 9 T 2?
01. TR &g 02. Paytm
03. Mobikwik 04. Flipkart
05. WhatsApp
Solution for Question 116 Ans Key: 1
eng Arogya Setu app started by the government to help in covid-19.
hi T A TG -19 H 7eg o FIY SR H UT [ Rl
Q-117  Which of the following firm will be the official sponsor of the Indian team for the rescheduled Tokyo Olympics?
eng
01. Reliance Group 02. Tata Group
03. Hinduja Group 04. Aditya Birla Group
05. INOX Group
Q-117 fF=forfad & & F1 &7 ®F AT 1T A (95 (o1 AT S8 7 SATTARTF AT 12
hi
01. fremrie #4qz 02. zrer HYE
03. fE=m Az 04. srfee farger g
05. sréeiera g7
Solution for Question 117 Ans Key: 1
eng The Tokyo Olympics will be held from 23 July to 8 August 2021.
hi e AT T STTATSH 23 SETs § § 3T 2021 & ofter & gl
Q-118  Which of the following is Not an institution of World Bank Group?
eng
01. International Finance Corporation 02. Unilateral Investment Guarantee Agency
03. International Centre for Settlement of 04. International Bank for Reconstruction and Development
Investment Disputes
05. None of these
Q-118 = H ¥ i fosa 9% Tz HT UF G ol 5?2
hi
01. seigr faw fem 02. Ferexer faer TR TSt
03. siaergry fAaer e Aaem aig 04. SAETEI QA=A Ue o 5%
05. =8 qFIE A5l
Solution for Question 118 Ans Key: 2
eng The World Bank differs from the World Bank Group, in that the World Bank comprises only two institutions: the International Bank for Reconstruction and
Development and the International Development Association, whereas the latter incorporates these two in addition to three more:
International Finance Corporation, Multilateral Investment Guarantee Agency, and
International Centre for Settlement of Investment Disputes.
hi o &=, o S v & forer 81 forsa o § St 37 5o Siaeig i qaiautor s (s S sie aargr o e, ot 8 stafs siaeig
ToTe &9 & T AT 6 AATAT A1 ST QAT & ST oy 7w, agaefia fFerer Ty usie, sii? siaeigy Haer fFare frem #3 |
Q-119  Which of the following is per-share value of Mutual Fund?
eng
01. NAV 02. EFT
03. ECS 04. All of these
05. None of these
Q-119 fFwferfed & & i &7 T % &7 9T 497 77 82



01. wHuH 02. S

03. <oy 04. I 7fr
05. =i ¥ 4TS A
Solution for Question 119 Ans Key: 1
eng Net Asset Value (NAV) is a mutual fund’s price per share or exchange-traded fund’s (ETF) per-share value.
hi 2 THE 9o (TATAT), TFH FHAA FE il T AT AT TS g€ e 0l (SETUF) T 037 o7 2
Q-120 Wholesale Banking is a banking services between and other financial institutions.
eng
01. Foreign banks 02. Local banks
03. Merchant banks 04. Central banks
05. None of these
Q-120 == ST T v At geurmt & = v St qar 2
hi
01. fazefi 9 02. =TT &
03. =TT 9% 04. FFTIF
05. v i 7S
Solution for Question 120 Ans Key: 3
eng Wholesale Banking is a banking services between merchant banks and other financial institutions.
hi Jre ST, ZATITE St T ser fa=iar |Seamt o = ua ST J4m g
Q-121 Which of the Phrases (1), (2) (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically correct.
eng If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
The production of our factory's various units is not been stated.
01. have not been 02. were not been
03.  will not been 04. has not been
05. No correction required
Q-121 Frmforfe & & Fraver” 7 fre 2R —ooeeev
hi
01. F=Twit 02. sfaTry
03. srfare 04. AT
05. =it i 7S Y
Solution for Question 121 Ans Key: 4
eng has not been stated is the correct option as a present perfect tense is needed here.
Q-122  Which of the Phrases (1), (2) (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically correct.
eng If the sentence is correct as it is given and no correction is required, mark (5) as the answer.
A committee comprising of imminent scholars from various engineering colleges was set up.
01. comprising with eminent 02. comprised eminent
03.  comprising eminent 04. comprising eminently
05. No correction required
Q-122 frwfafad & & Sumar #1 fBam e m --
hi
01. =T 02. WT
03. FEATT 04. 3t
05. =AHAFIS :rg?r
Solution for Question 122 Ans Key: 3
eng comprising eminent (eminent means important or famous)
Q-123  Which of the Phrases (1), (2) (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically correct.

eng

If the sentence is correct as it is given and no correction is required, mark (5) as the answer.



The people of this locality can classify into only two groups ,the poor and very poor.

01. will be classify in 02. can classify for
03. will be classified by 04. can be classified into

0S. No correction required

Q-123  Formferfere & & Rt i fefer 217 -

hi

01. fR=reaor 02. erfa

03. ameTha 04. srfaeifia

05. =zt & 78 T
Solution for Question 123 Ans Key: 4
eng can be classified into

Q-124  Which of the Phrases (1), (2) (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically correct.
eng If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

In the recent held match ,many players recorded good runs.

01. recently holding 02. recently held
03. recent hold 04. recent holding of

05. No correction required

Q-124 f=fofad @ § F:19 “F FT === Tol gl

hi

01. fafy 02.

03. & 04. =T

05. gt & 1 A
Solution for Question 124 Ans Key: 2
eng recently held is the correct form

Q-125  Which of the Phrases (1), (2) (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically correct.
eng If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The man gathered courage and rushed to the accident sight to save his friend.

01. accident site to save 02. accident sight for saving
03.  accident site for safety 04.

S

accident sight so that to save

05. No correction required

Q-125 fAwfafad & & %19 »awa” F7 =i =ar=t 7gf 2l

hi

01. HYITAT 02. HEU

03. TyFdr 04. gfewr

05. =zt & A T
Solution for Question 125 Ans Key: 1
eng accident site to save (site means the place of)

Q-126 In the following sentence, four words have been given in bold which are numbered (1), (2), (3) and (4). One of these words may be wrongly spelt or
eng inappropriate in the context of the sentence. Find out the wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are
correctly spelt and are appropriate the answer is (5) i.e. "All correct".

Railway officials suspected something fishy when two empty coaches caught fire All correct.

01. suspected 02.  fishy
03. empty 04. caught
05. All correct
Q-126 1= =T 3T S AT A AT | ater 147 & ™7 (1), (2), (3), (4) 37 (5) FHiE 0 A7 g Aot 78 T@T ¢ o6 ey & ot 9nr § e,
hi ATOT, AT QT&aT o TAd TIRT AT THT TG T F1S AT qT Tt g1 AT FT FHAT AT AT F Fhelt U A7 § & gR0T, ST AT A7 FHIF g1 39 &
T areFr Afexfea g ar 39 (5) <A



T (1) TEIET 317 (2)/ T q=T (3)/&TT 4T & 2(4) FAfe = (5)

01. 1 02. 2

03. 3 04. 4

0s. 5
Solution for Question 126 Ans Key: 5
eng All Correct.

Q-127 In the following sentence, four words have been given in bold which are numbered (1), (2), (3) and (4). One of these words may be wrongly spelt or
eng inappropriate in the context of the sentence. Find out the wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are
correctly spelt and are appropriate the answer is (5) i.e. "All correct".

Discrepancies were detected in photographs of the candidates through the biometrik system. All correct.

01. Discrepancies 02. detected
03.  through 04. biometrik
05. All correct
Q-127 = T T e ARy AT AT H ater T 7 N (1), (2), (3), (4) 377 (5) FHiH &7 70 81 rTeht T8 @1 ¢ 6 areg & Rt anr § =,
hi ATOT, AT ATSET % TAd THNT AT THT TG T 1S A& AT Aol gl (e SN AT AT ATHT % et T AT § EF A0, I AT FHT HH 1 gl 302 g
T2 are Afexfea g a1 397 (5) fifm)

T (1) = (2)/ & & (3)/ 21 g1 Wi (4) qfe T=a (5)

01. | 02. 2

03. 3 04. 4

05. 5
Solution for Question 127 Ans Key: 4
eng ‘Biometric’ is the correct spelling.

Q-128 In the following sentence, four words have been given in bold which are numbered (1), (2), (3) and (4). One of these words may be wrongly spelt or
eng inappropriate in the context of the sentence. Find out the wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are
correctly spelt and are appropriate the answer is (5) i.e. "All correct".

We not only look for them during sickness but also impart them skills which ensure them livelihood for the future. All correct.

01. Jook for 02. impart
03. ensure 04. livelihood

05. All correct
Q-128 1= =T 3T S ATy A AT | ater 147 & 57 (1), (2), (3), (4) 3% (5) FHiE 0 A7 g ATt T8 T@T ¢ o6 ey & ot 9anr § s,
hi ATOT, AT QT&GT o AT TART AT THT TG T F1S AT AT Tl g1 AT FT G AT AT % FheT U AN § & gRIT, ST AW T FHIF g1 39 &
Tt arerr Afexfed g ar 39 (5) <A

FEGST (1)/ T FHT (2)/ STHA (3)/ T8 T2l 21(4) qfe TR (5)

01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 128 Ans Key: 1
eng ‘Look after’ should be used which means ‘take care’, ‘Look for’ means ‘search’.

Q-129 Inthe following sentence, four words have been given in bold which are numbered (1), (2), (3) and (4). One of these words may be wrongly spelt or
eng inappropriate in the context of the sentence. Find out the wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are
correctly spelt and are appropriate the answer is (5) i.e. "All correct".

Flood is a natural phenomenon having both pesitive and negative impact and only the fitest survive. All correct.

01. phenomenon 02. positive
03. impact 04. fitest
05. All correct



Q-129 = foam T ke ATy AT A H ater T 8 B (1), (2), (3), (4) 377 (5) FHiE 2w 7w §) oy 78 T@AT ¢ 5 arer G 9w § s,
hi ATHT, AT QT&ET o AT TN AT THT TG T H1% AT AT Aol g1 AT S FIT Al AT % [hell T AN § &7 g0, ST AW T FHIF o 39 &l
Tz are qfefea g a1 3w (5) i)

(1) 39 =ARK(2)/ FT T@1(3) TTH 721 21(4) Tfe T-aA(5)

01. 1 02. 2

03. 3 04. 4

0s. 5
Solution for Question 129 Ans Key: 4
eng ‘Fittest’ is the correct spelling

Q-130 In the following sentence, four words have been given in bold which are numbered (1), (2), (3) and (4). One of these words may be wrongly spelt or
eng inappropriate in the context of the sentence. Find out the wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are
correctly spelt and are appropriate the answer is (5) i.e. "All correct".

Experts feel that it is high time that multi diciplinary studies should be undertaken to understand the impact of radiation from cell phone towers on the
environment. All correct.

01. high time 02. multi diciplinary
03. undertaken 04. radiation

05. All correct
Q-130 1= T 13T S AT A AT A ater 147 8 5 (1), (2), (3), (4) 37 (5) FHiw 70 10 g1 st 97 a@er g o v & et 9w # s,
hi ATHT, AT QT&RT o AT TANT AT THT TG T H1% AT AT Tl gl AT ST AT AT AT % Rl U AN § &1 g7, ST AW HT FHIF 5F 39 &l
Tz e Ffexfza € v 3w (5) fifvm)

I I (1)/ AT I T &I (2)/ TH. AT, Gt F1(3)/ TINT T 90724 1(4)/ Tfe T=a(5)

01. 1 02. 2

03. 3 04. 4

0s. 5
Solution for Question 130 Ans Key: 2
eng "Multi-disciplinary is the correct spelling.

Q-131 In the following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (1), (2), (3), (4) and (5). Find out which

eng pair of words can be filled up in the blanks in the sentences in the same sequence to make the sentence meaningfully complete.
In the eyes of Indian ............ , gods residing in temples are legal..............
01. police, action 02. leadership, course
03. railway, guidance 04. students, work

05. Jaw, entities
Q-131 1= XU 70 Jeds w7 | U N T Gl g3l © 3T S8 1< T4 2758 AT T & | TAH & 77 T 9158 Fl {76 ©I1F 9% 79 39 8 9 a1 TF
hi STAUT ATHT T STTAT | Tl 953 T AT FHT JHAT HH HEAT HI I F & H Toha HITo1T| AT {20 T eraat | F FaTierd IUIh 958 F1 999
FAT B

[EECETIECEC E - 1 i S =

01. STg™ 02. =¥
03. qﬁ—grq 04. aﬁgm

05. srgTa™
Solution for Question 131 Ans Key: 5

eng Law, entities.
For other options:
course (N) - path or route
Guidance (N) - help

Q-132 Inthe following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (1), (2), (3), (4) and (5). Find out which
eng pair of words can be filled up in the blanks in the sentences in the same sequence to make the sentence meaningfully complete.

The managing committee officials gave the ............. that they would look ........... the matter.



01. direction, down upon 02. indication, to
03. assurance, into 04. liberation, for

05. hesitation, at
Q-132 1= U 0 Yol W H UF N T GeT gl ¢ T S8 1< T4 2758 AT T &) TAH & 77 T 9158 Fl {76 ©I19 9¢ 79 34 8 9g a1 TFh
hi ST ATAT I STTAT 2| Hel €761 &l ATA FT JEh! HH HEAT I IAL 6 ®F | {fohd A7) ThT 30 0 ereat §O F qatfers ITgh M52 HT T4
FLAT B

T Y AT TS H ........... T wgte & wiafas aedt s = 2

01. ge= 02. wE=

03. aqT 04. yeTETH

05. weTIor
Solution for Question 132 Ans Key: 3
eng Assurance, into

For other options:

Indication (N) - point out

liberation (N) - freedom
Hesitation (N) - a state of doubt

Q-133 In the following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (1), (2), (3), (4) and (5). Find out which

eng pair of words can be filled up in the blanks in the sentences in the same sequence to make the sentence meaningfully complete.
Villagers ............... adozen vehiclesand .............. the traffic for hours.
01. shoot, diverted 02. digressed, allowed
03. maintained, veiled 04. damaged, blocked

05. viewed, addressed
Q-133 1= XU 70 Jed W | UF N T Gl g3l ¢ T S8 A1 T4 2758 AT T & | TAH & 77 T 9158 Fl {76 S 97 79 34 8 9 a1 TFh
hi AT ATHT T STTAT | Tl 9757 T AT FHT JHAT HF HEAT Hl I F & H Toha HIToMT| AT {0 T eraat | F FaTierT IUIh 958 FT 999
FTAT Bl

01. wTeor 02. wrfa

03. ZTATSIT 04.

05. ST
Solution for Question 133 Ans Key: 4
eng Damaged, blocked

For other options

Diverted (v) turned aside.

veiled (v) - piece of material worn overface for concealment.
Digressed (v) -Deviated.

Q-134 In the following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (1), (2), (3), (4) and (5). Find out which
eng pair of words can be filled up in the blanks in the sentences in the same sequence to make the sentence meaningfully complete.

Great books, great parents and great knowledge .............. agreat ...........

01. make, nation 02. wither, device
03. forms, scholar 04. hone, adventure

05. constitutes, thoughts

Q-134 1= [T 70 JeF 7 | UF R T Gl g3l ¢ 3T 36a 1= T4 2758 AT [0 &1 TA7 F 77 T 9158 Fl {76 &9 92 79 39 9 a7 TFh

hi ST ATHT T STTAT | Tl 963 T 1T FHT JHAT 1 HEAT Hl I F & H S{oha 1917 AT {20 T eraat | F Fatierd IUIh 958 FT 997
FAT B
HETTST SAATA FTAE oo AT AT
01. =Frerer 02. fvorar
03. = 04. TTHRTIAT

05. orfer



Solution for Question 134 Ans Key: 1

eng Make, nation
For other options:
Wither (v) - fade
hone (v) - make better/improve
Adventure (N) - An exciting experience.
Constitutes(v) forms

Q-135 In the following sentence, there are two blank spaces. Below it, five pair of words have been denoted by numbers (1), (2), (3), (4) and (5). Find out which

eng pair of words can be filled up in the blanks in the sentences in the same sequence to make the sentence meaningfully complete.
Labours were lucky as the rains forced them to move away from the ............ of bridge beforeit ............
01. dimension, warned 02. portion, collapsed
03. Iocality, slipped 04. shadow, shook

05. atmosphere, lifted
Q-135 1= fw 0 syeareh 5127 § e < #I wgeT g € S S s o 97 AT T €| TAH & A TF 952 7 e WA I 7@ & A ATH TF

hi STAUT ATHT T STTAT | Tl 953 il ATq FHT JHAT 1 HEAT HI I F & H Toha 1917 | ATTHT {20 T eraat | F Fatierd IUIh 958 F1 999
FTAT Bl
TFRT AT & 1= g T qHT= AR & .. TE AT
01. s =l 02. sy
03. <ff=rgr 04. JEATE
0s5. g:tﬁ'
Solution for Question 135 Ans Key: 2
eng Portion, collapsed.

For other options:

Dimension (N) - Aspect

Slipped (V) - glided

Shook (V) - Moved with vibratory movements.

Passage for Question 136, 137, 138, 139, 140, 141, 142, 143, 144, 145 (ST-102 RRBPO (121-130) 2014)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been printed in bold to help you locate them while answering
some questions.

In the early days of aviation, aircraft only flew at lower altitudes. In the late 1930s, Boeing introduced the 307 Stratoliner as the first commercial airliner with a
pressurised cabin that could fly up to 20,000 ft while maintaining “cabin altitude’ below 10,000 ft, which means that conditions in the cabin would match those that
would have prevailed if the aircraft had been flying at 10,000 ft.

When at higher altitudes, it is important to maintain certain parameters within the cabin for passenger comfort. These include temperature, humidity, air circulation
and cabin pressure. Most modern jets fly at altitudes between 25,000 and 51,000 ft. These have systems in place to ensure the cabin is pressurised enough to
correspond with a flight altitude between 6,500 and 8,000 ft.

To pressurise the cabin, ambient air is introduced into a compressor inside the aircraft’s engine, and heated up rapidly. This air, set aside for pressurisation and air-
conditioning, is called “bleed air”. The heated air is sent to a cooling unit, then sent into the cabin. An overflow valve towards the rear of the aircraft ensures that air
enters the cabin faster than it leaves, creating a pressurised ecosystem. Under takeoff procedures, the bleed air is sometimes turned off when the plane is carrying a
payload above a limit. This ensures that the engine does not leak the air and uses all of it to create enough thrust for a successful takeoff. In such situations, the bleed
is switched on after takeoff. Until then, air-conditioning is maintained by the auxiliary power unit — which, in Boeing 737s, works until 17,000 feet and then trips.
The pilot needs to ensure that after takeoff, bleed is switched on to maintain cabin pressurisation.

The human body cannot endure an environment above certain altitudes and would start reacting above 10,000 ft. At of 18,000 ft, for example, passengers would
experience a pressure of 7.3 pounds per square inch, and fall unconscious within 30 minutes. If cabin altitude is not maintained below 10,000 ft, it would lead to
various effects. Gases in the middle-ear, sinuses and digestive tracts would start to expand, causing bleeding from the ears and nose. As the altitude rises,
temperature and oxygen levels decrease. This means a risk of frostbite, hypothermia and deficiency of oxygen in the blood, leading to hypoxia.

In a 2005 flight of the Cypriot airline Helios Airways, loss of cabin pressurisation led to hypoxia in the crew. The crew failed to recognise that the pressurisation
switch was set to manual. After the plane crossed 30,000 ft, most crew and passengers were unconscious. Eventually the aircraft depleted its fuel and crashed in
Greece, killing all 121 on board.

In 2008, a Ryanair flight from Bristol to Barcelona-Girona experienced a drop in cabin pressure, leading to an emergency descent and hospitalisation of 16
passengers. In 2017, an AirAsia flight from Australia to Indonesia was diverted to Perth because of low pressure.

Among safety measures used by manufacturers and airlines, one involves a checklist of tasks for crew. For a Boeing 737, for normal circumstances, there are 12
steps for pilots at various stages — pre-flight, before engine start, after engine start, before taxi, before takeoff, after takeoff, descent, approach, landing, after
landing, engine shutdown and aircraft secure. Airlines sometimes add more tasks to these basic checklists.




hi Passage

= foT U TRITIT AT SATTYEF TR Y I IT AT To7 % ST AT T, AT5a1 T TThd STer< |/ qiod AT 1T ¢, e sroat g ot & 397
T | FgrIar fenth f3w sru fewedt § & qa8 U 7 999 A

77 7 ot 79 TE 2 5 oot ¢ Sy et gATe A= i /9 & A2 G FEd R G ST F g4 @ A7 et w5 =t g, At
TT-TGT AT & T3 TH-TF I &7 § FUE] ©9F G4 (60 S | ATga Tl % 9 T2 ATl T GEET AT &, A F AT TgTe STt 8| SH e,
F T A O T &1 Al 16 g FUEST 210, T a8 719 F9 a2 37T S qehd1 & ? 6 a7 % 9o Ta1e< Fgl 9 S0 AT [Aem=er § 9g=nl 2 T
ST T % q I ART HHE FEEAAT ST [Aemehy stfora &e3t, av fohe Sar & AT T Sarst Joia HAT 390! T teedt gt a7 {5 48 a6 g+ &t
TIATE ? TH TRT | Fs AT qTET STegeil Al g1 TrTH st 7 IIE SATATE T Tl &, T ATHT 9T T &1 Tt | UF H, FAT I97 T ATRA T eI ATha =,
H qedIe Al BT AT S 2 I7 T6a a7 qT § TET T¢ A1 A9 o Forw, 3=l 3 arar-ware o o oife aga 3 e a7 S| et Hfa=t  Fa a9+
w1 &7 a7 T g o6 AT FATarst 7 Siaem § TS 11ds I 9058 T TN Tl ChAT| TETTHAT 1 99 § Tgad & 47 AT 7q7 aaqran| S
H 9T oTex TEAT I TA-Ta [ FIGA A F THT AAT| AT 3T Frerfe 1 g1 72 8 7 ag wriéat v e g1 1e 8 o arét e % g
T FSTAAT| ATATHATT TG TT FLAT ¢ T AT TITTHAT T T FI A5l ATt T TTEai I ATATRATT o0 ST AT 6 STATAT RIS AT T8l gl
TATELATA A& T STHTAT IAT, ST qTE BILH T qLHTT T AT T T il 2| 37 a78 F 397 T TSI § Gl fa=1e arel aof-a<i< qaqret #f svrg

Aot T o o 2

Q-136 What among the following does not happen with the rising altitude, as per the data given in the passage?

eng

(A) temperature levels decrease.
(B) oxygen levels decrease.
(C) Temperature levels increase.

01. Only(A) 02. Only (C)
03. Both (B) and (C) 04. Both (A) and (B)
05. All(A), (B)and (C)

Q-136 =FT-IgT FTAEATE ?

hi

01. o7 SHTRT AGHT FATE A2 21 Aal 02, Ueh-UF FT9 &0 § FUST €97 T {567 ST 2
qFHAT B

03. Zeor fasprashier & AsfEa T A ag vgr 04, JAT9 SANT SHIETRT & 19 FT 72T 2
2l

05. =% ¥ FIS T21

Solution for Question 136 Ans Key: 2

eng As the altitude rises, temperature and oxygen levels decrease.

Q-137 In2008, a Ryanair flight from Bristol to Barcelona-Girona experienced a drop in cabin pressure, leading to-

eng

(A) Casualty of 22 passengers.
(B) an emergency descent.
(C) hospitalisation of 16 passengers.

01. Only (A) 02. Only (C)
03. Both (A) and (B) 04. Both (B) and (C)
05. All (A), (B) and (C)

Q-137 = =raHl AT A AEL T THAT 2

hi
01. =it ag TrorAT & et § =7eq 7gar 02. ITah! a2 Jarell o Tg= el gl 2l
El
03. 3T A1 A=t fArwfeT 721 gt gl 04. T ST 3 ITE T, T B 21 Aol % 98 FAST qerd
05. 3 FT & X & el ATEd 2l
Solution for Question 137 Ans Key: 4
eng In 2008, a Ryanair flight from Bristol to Barcelona-Girona experienced a drop in cabin pressure, leading to an emergency descent and hospitalisation of 16

passengers.

Q-138 Atof 18,000 ft, for example, what would passengers not experience, as per the passage given above?
eng

(A) apressure of 7.3 pounds per square inch
(B) fall unconscious within 30 minutes.
(C) atotal choke of lymph node.



01. Only (C) 02.
03. Both (B) and (C) 04.

05. All(A), (B)and (C)

Only (B)
Both (A) and (B)

Q-138 T F a4 U ART AR AT (G T qr IAehr FAT ATAHFAT SR 2

hi

01. ¥z AT @ T AIITE 02.
03. aﬁ’rﬁaﬁ{@‘aﬂm 04.
05. o=t & FTAT

Solution for Question 138

eng

Q-139

eng

Q-139
hi

T9T % 3T 7 ST AR
ST o SATARTLT T AT JAT AT

At of 18,000 ft, for example, passengers would experience a pressure of 7.3 pounds per square inch, and fall unconscious within 30 minutes.

Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.

Endure

01. withstand 02.
03. tolerate 04.
05. undergo

o o Fore avg T AT deT T IAT S 2

() B E N RECIERE 02.
03. FHTSrE AT 04.
05. =% T FIS AT

Solution for Question 139

eng

Q-140

eng

For other options:
All other options are the synonyms of the given word.

resist

encounter

IPEACICTES
IUEFEAIGERIETES

When at higher altitudes, it is important to maintain certain parameters within the cabin for passenger comfort. These include-

(A) Temperature and humidity
(B) Air circulation
(C) Cabin pressure

01. Only(A) 02.
03. All(A), (B) and (C) 04.
05. Both (A) and (B)

Both (B) and (C)
Only (C)

Q-140 T saer  faemae Ua FiEal 7 ST 6 AR 6l SAATS o] HIAT ITAHHAT JT & 2

hi

01. 3T TS 02.
03. gfsrg & 04.
05. =H F F1E TE

Solution for Question 140

eng

Q-141

eng

Q-141
hi

EEICH

Ans Key: 1

Ans Key: 2

Ans Key: 3

When at higher altitudes, it is important to maintain certain parameters within the cabin for passenger comfort. These include temperature, humidity, air

circulation and cabin pressure.

Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.

Diverted

01. sidetracked 02.
03. averted 04.
05. redirected

T FT e fohe foro gam g 2

01. TF T i< T THAT F Heed| il 5% 02.
& form
03. TTSTHT AT ATHHAT F Geed| & faare 04,

continued

rerouted

=Tl % eI WaT % 7T ST S8 d 3 ST 9¥ YR Aaat a9 & for)

AL HTAAT T AT FLA o forw)



FT THTE 44 & oy

05. = & Frs ST
Solution for Question 141
eng For other options:

All other options are the synonyms of the given word.

Ans Key: 2

Q-142  Which of the following sentences is/are NOT TRUE according to the passage?

eng

01. The pilot needs to ensure that after takeoff, 02.

bleed is switched on to maintain cabin
pressurisation.

03. Under takeoff procedures, the bleed air is
sometimes turned off when the plane is
carrying a payload above a limit.

05. None of the above

04.

In a 2005 flight of the Cypriot airline Helios Airways, loss of cabin pressurisation led to hypoxia in
the crew.

In 2017, an AirAsia flight from Australia to Indonesia was diverted to Perth because of low
pressure.

Q-142 = fagm FaTaret ¥ &g § f orsg 1 97w 75t v 2

hi

01. =S

03. afefesw =t

05. TSI &
Solution for Question 142

eng All parts are true.

02.
04.

grTior =<1
qTSI T

Ans Key: 5

Q-143  Choose the word which is most nearly the SAME in meaning as the word given in bold as used in the passage.

eng

Prevailed

01. yielded

03. predominated

05. datafied
Q-143  =faem 7 91 ez &a oA ?
hi

01. =fareme = fAmior F qv
03. To-gae FATTE FIA a1 F THT
05. ST 9Tel & qHT

Solution for Question 143

eng For other options:

02.
04.

02.
. 429 HIYT F qHT

forfeited

reduced

Hfaeme At gger

Ans Key: 3

Yielded and forfeited are the antonyms of the given word.
While an organization that implements datafication is said to be datafied.

Q-144 Boeing introduced the 307 Stratoliner as the first commercial airliner with-

eng

01. a pressurised cabin that could fly up to
10,000 ft while maintaining “cabin altitude”
below 10,000 ft.

03. a pressurised cabin that could fly up to
30,000 ft while maintaining “‘cabin altitude”
below 10,000 ft.

05. apressurised cabin that could fly up to
2,00,000 ft while maintaining “cabin
altitude” below 10,000 ft.
Q-144 s eamEFT FT A FATE 2
hi

01. STHHAT T FT ATAATAT TEaT gl

03. =g faferer wrféat & a2

05. 3IHHO 7= F HHT ITZ4 21d &
Solution for Question 144

02.

04.

02.
04.

a pressurised cabin that could fly up to 20,000 ft while maintaining “cabin altitude’ below 10,000 ft.

a pressurised cabin that could fly up to 20,000 ft while maintaining “cabin altitude’ below 20,000 ft.

g qTfEAT ¥ a3 g1 T B
TTPATT FT AAGTAT TEaT 2l

Ans Key: 2



eng Boeing introduced the 307 Stratoliner as the first commercial airliner with a pressurised cabin that could fly up to 20,000 ft while maintaining “cabin
altitude” below 10,000 ft.

Q-145  Choose the word which is most nearly the SAME in meaning as the word given in bold as used in the passage.

eng
Deficiency
01. superfluity 02. excess
03. insufficiency 04. surplus
0s5. p]enty
Q-145 T 0T § AT T AQqTH T I o o o g 2
hi
01. & &I Faqrsi 02. grgafera
03. FIqael AqTA 04. FT=IT ATATAT T
05. =i o e
Solution for Question 145 Ans Key: 3
eng For other options:

All other options are the antonyms of the given word.

Passage for Question 146, 147, 148, 149, 150, 151, 152, 153, 154, 155 (ST-102 RRBPO (136-145) 2014)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

In our approach to life, be it (A) or otherwise a (B) fact that confronts us squarely and unmistakebly is the (C) for peace security and happiness. Different (D) of life
at different levels of existence make up the teeming denizens of this (E) of ours .And no matter whether they (F) to the higher groups such as human beings or to the
lower groups such as animals, all (G) primarily (H) peace comfort and security. Life is as dear to a (I) creature as it is to a man. Even the lowest insect (J) for
protection against dangers that threaten its life. Just as each of us wants to live and not to die ,so do all other creatures.

hi Passage

F= fav afi=em # %w T v @re e o € qor S92 wor s & gorfan 1 81 3 "ot ofi=es F 9 qied 8, 8T e s F qme (1), 2), 3), ()
37 (5) Farere fRw T €)1 =9 o= § § 7S U T oI i @ I=eE § HeW H SUAh & 8 X1 FY &qT g1 AT a8 fashed J1d F3AT 8, 37T 391
FHIE &1 I 6 T H AT g1 ATTHT (2T 70 Feedi § F qa ST Ao T 999 F7A4T 2

TEAT H TETAT SITAT & T3 AT UF (A) 397 81 09, FH ST a9 il ATGAT 945, AT 37T Tiefy ¥ (B) FAwrea 81 78 9z o S 7 die- a0 37 Aredie
qTHA &, T 39 7 (C) F AINETT EI9 T g SHaTel TS Te-avTe el AR AT FHT IHS | FAAT 3T FIAT 6 7T FT TG Hael AT 975 2
THH YT THAIR IGAT B AT g AT (D) FT 0T I &1 UH F2 (E) 30T 97 & (9@ a7 g1 et et @« &7 Joradt Jrao-a=1 saa7 9redt g1 29
39 (F) o o ATl g1 s arferat & wa & a7 29 &1 a9 81 721 a7 38 @ 2 7 F90 g et =17 (G) weame S &9, oive wft aret st
IOHT 2 THH FIT AFT-347 T 397 § U (H) |fereme off 31 S-05 it a2 & w0 & (1) 99 €, J497 (J)) 947 F7 @79 F e @Y o F 8 3T 3ot & o

Q-146 Choose the correct option for (A).

eng
01. theoretical 02. idealistic
03. pragmatic 04. elegant
0s. earthy

Q-146 (A) F forT a2t faeeT &1 599 F:7

hi
01. Fa= 02. ST
03. fEa= 04. sreartera
05. #8@

Solution for Question 146 Ans Key: 3

eng Pragmatic (adj.) means practical or that which is possible.

For other options :-

(1) theoretical (adj.) means related to thoughts or theory

(2) idealistic (adj.) means imaginatory

(3) elegant (adj.) means graceful in form or appearance

(4) earthy (adj.) means realistic it cannot be used here as the article 'a' is used before the blank whereas earthy should be used with the article 'an'.



Q-147

eng

Choose the correct option for (B).

01. important
03. understood

05. renowned

Q-147 (B) ¥ forw @&t fased &7 =39 2

hi

01. 91T
03. Tq
05. 3r=d

Solution for Question 147

eng

Q-148

eng

Q-148

basic (adj.) means fundamental
For other options :-

02. basic

04. unreasonable

02. 3=HIT
04. Sree)

important cannot be used here as the article "an" is required before it.
understood also needs to be written with the article "an"
unreasonable means not in accordance with pratical realities.

Choose the correct option for (C).

01. desire

03. wanted

05. demanded

(C) % for w12y e T =9+ F3

01. eiex

03. g9

05,z & 7S A

Solution for Question 148

eng

Q-149

eng

Q-149

desire (n) means a wish or to long for something.

For other options :-

necessarily is an adverb so it cannot be used here.
wanted is a verb so it is incorrect to use it here.
yenned is also a verb it means a desire or craving but as it is a verb we cannot use it here.

02. necessarily

04. yenned

02. gt
04. FTw

demanded is also a verb so it cannot be used here.

Choose the correct option for (D).

01. stages

03. classes

0S. formulations

(D) % forw w12t faehe &7 =9 *<
01. fAeRearT

03. srHcTqar

05. ToraTer

Solution for Question 149

eng

Q-150

eng

forms of life means different kinds of living things.

For other options :-

stages (of life) refers to levels or period like childhood, young age ,old age etc.

classes refer to societal groups.

02. forms

04. genes

genes is a biological term that means the basic physical unit of heredity.

formulations means expression in precise form.

Choose the correct option for (E).

01. planets

02. ga]axy

Ans Key: 2

Ans Key: 1

Ans Key: 2



Q-150
hi

03. carth 04. surroundings

05. layers

(B) % orw =12t forere &7 =19 )

01. 3 02. HZEAT
03. qgr{&ﬁ 04. g@ﬁﬁ
05. srfaraTdt

Solution for Question 150

eng

Q-151

eng

Q-151

earth is correct as forms of life on our planet are being discussed.
For other options :-

planets cannont be used as we are not talking of different planets we are talking of life on earth.

galaxy is large system of stars held together by a mutual gravitation.
surroundings means the environment or things that surrounds us.

Choose the correct option for (F).

01. agree 02. apply
03. associate 04. belong
0S. appertains

(F) % forw =12t oo &1 =g+ #2

01. fEs 02. frzs
03. T 04. fEas
05. ge=ET

Solution for Question 151

eng

Q-152

eng

Q-152

belong (v) means be a part of.

For other options :-

agree (V) means to accept or give a consent to something

apply (v) means to put to use

associate (V) means to connect or bring into relation.

appertain (v) means belongs as a part, pertains or relates to something

Choose the correct option for (G).

01. person 02. beings
03. peoples 04. creature
(G) F forw w12t faske &7 =99 2

01. wgﬁ?ﬁ 02. I{g‘g’lﬂ:r
03. yr=h= 04. FHFTATT

05. I

Solution for Question 152

eng

Q-153

eng

Q-153
hi

beings- refers to living things when we use the word 'beings' it refers to all living things on the Earth

Choose the correct option for (H).

01. sought 02. search
03. seek 04. find
05. discover

(H) % forw a2t e 7 =9+ #3

01. srferfera 02. Hifers
03. ferfera 04. =T

05. 37

Ans Key: 3

Ans Key: 4

Ans Key: 2



Solution for Question 153 Ans Key: 3

eng seek (V) means to try to obtain .
For other options :-
sought is in the past tense (past of seek) so it is inappropriate here.

Q-154 Choose the correct option for (1).

eng
01. mute 02. silence
03. new 04. old
0S. nonliving
Q-154 () forw ==t faeed #7 =39 F:2
hi
01. qferer 02. 9T
03. wre 04. srZdEFF
05. i & 7S et
Solution for Question 154 Ans Key: 1
eng mute means silent ,here we are refering to animals .As animals cannot speak or express their feelings like human beings we refer them as mute creatures

For other options :-
silence(v) forbid to speak.
new and old are irrelevant in case of creatures here aphasiaced is no word ,it is aphasiac that means unable to speak.

Q-155 Choose the correct option for (J).

eng
01. wants 02. battle
03. brawled 04. strives
05. combat
Q-155 () ¥ forw @gr fased 1 =737 1
hi
01. <rer=r 02. 3ET
03. Ffaa 04. FreTer
05. #8™
Solution for Question 155 Ans Key: 4
eng strive (v) means to make strenuous efforts towards any goal.

For other options :-

(1) wants is not followed by for so it cannot be used here.

(2) battle (n) means a fight

(3) brawled is the past from of brawl (n) that means a noisy quatrel or to quarrel angrily or and noisily.
combat to fight or contend against or to oppose vigorously.

Passage for Question 156, 157, 158, 159, 160 (ST-102 RRBPO (146-150) 2014)
eng Passage

Rearrange the following sentences (A), (B), (C), (D), (E) and (F) in the proper sequence to form a meaningful paragraph, then answer the questions given below
them.

(A) An increasingly larger percentage of Indian population today lives in the Urban areas.

(B) Over the last fifty years, while the country's population has grown by 2.5 times

(C) India's Urban population is now second largest in the world after China.

(D) In the Urban areas it has grown by five times.

(E) And is higher than the total Urban population of all the countries put together barring China,USA and Russia.

(F) Contrary to popular concepts of a predominantly rural India.

hi Passage

?(A),(B)%%%D)aﬁtm)ﬁazmmﬁqwﬁﬁ@ﬁ$ﬁﬁﬁﬂ@ﬁ%ﬁ%ﬁﬁ§$ﬁ#ﬁ?ﬁ@3mmlﬁﬁmmﬁqw
Tt T I |

(A) I 3% e F S ST TgaTd Uah I il ofF ST 39 F9A1 il ®Tgl T8 97 Srar 27|

(B) Ifh ST fhedt 2 giar fRraaft i srgreat 1 aardy w2

(C) AT ATZAN ST 421 3

(D) T UHT Gt ST ST qahl 2aTar off o7 3T weArar |ff

(B) U THE % q1< T 391 I famrger ergerma it a9 12 o




Q-156  Which of the following would be the LAST sentence after rearrangement?

eng
01. D 02. E
03. F 04. A
05. C

Q-156 T=AT ATHT FIT AT I 2

hi
01. D 02. A
03. C 04. E
05. B

Solution for Question 156 Ans Key: 1

eng The rearrangement is FACEBD

Q-157 Which of the following would be the FIRST sentence after rearrangement?

eng
01. B 02. F
03. C 04. D
05. A

Q-157 T AT FIA AT ?

hi
01. B 02. C
03. D 04. E
05. A

Solution for Question 157 Ans Key: 2

eng The rearrangement is FACEBD

Q-158  Which of the following would be the FOURTH sentence after rearrangement?

eng
01. A 02. B
03. C 04. F
05. E

Q-158 =T AT 1 AT &R 2

hi
01. A 02. C
03. D 04. E
05. B

Solution for Question 158 Ans Key: 5

eng The rearrangement is FACEBD

Q-159  Which of the following would be the FIFTH sentence after rearrangement?

eng
01. A 02. C
03. D 04. B
05. E
Q-159 =TT AT FI AT &1 14T ?
hi
01. D 02. B
03. C 04. E
05. A
Solution for Question 159 Ans Key: 4

eng The rearrangement is FACEBD



Q-160  Which of the following would be the THIRD sentence after rearrangement?
eng

01. D 02. E
03. F 04. A
05. C

Q-160 TI=aT aTHFT 1 AT 2RI 2

hi
01. D 02. B
03. C 04. E
05. A

Solution for Question 160
eng The rearrangement is FACEBD

Q-161 Whatis the full form of SMPS?
eng

01. Switch Mode Power Supply 02. Switch Made Power Supply
03. Switch More Power Supply 04. Switch Many Power Supply

05. None of these
Q-161 SMPS &1 0 T FATEAT & ?

hi
01. Switch Mode Power Supply 02. Switch Made Power Supply
03. Switch More Power Supply 04. Switch Many Power Supply
05,z TS A
Solution for Question 161
eng SMPS is used to convert the AC (Alternating Current) into DC (Direct Current).
hi SMPS is used to convert the AC (Alternating Current) into DC (Direct Current).
Q-162 In USB port B stands for ?
eng
01. BUS 02. Battery
03. Batch 04. Bomb

05. None of these
Q-162 USB TIE # B &l Fgl SITaT 872

hi
01. BUS 02. Battery
03. Batch 04. Bomb
05. i & TS A

Solution for Question 162

eng USB- Universal Serial Bus

hi USB- Universal Serial Bus

Q-163 Which key is used to delete characters to the left of the cursor?
eng

01. Del 02. Backspace
03. Enter 04. Shift

05. None of these
Q-163 =¥ I e FSIT A7 TN e At Frf a0 & ger | fram srav g 2
hi

01. Del 02. Backspace
03. Enter 04. Shift
05. =& FFTIE TR

Solution for Question 163

eng Backspace key is used to delete characters to the left of the cursor.

Ans Key: 5

Ans Key: 1

Ans Key: 1

Ans Key: 2



hi Backspace ST T SHT & Fe [ a1 T & g7 § a1 Srar g

Q-164 Computers use the ............ number system to store data and perform calculation
eng

01. Octal 02. Binary

03. Decimal 04. Hexa-Decimal

05. None of these
Q-164 FFqeH I FErEe FT TR ST & X F3 & o7 i fesqeed #3 & forw. - SR srar g

01. Octal 02. Binary
03. Decimal 04. Hexa-Decimal
05. =it i 7S Y
Solution for Question 164 Ans Key: 2
eng Binary Number System is used in the computer and in the Binary Number System computer can use the combination of 0 and 1. Binary Number System
0, 1)
hi AL a7 B FT TR FFeT § AT STar 8, areadt 967 fBeed § 0 3T 1 F Faqe F7 T g1aT g area< 497 & (0,1)
Q-165 Which of the following is the lowest Memory Unit?
eng
01. KB (Kilo Byte) 02. MB (Mega Byte)
03. GB (Giga Byte) 04. TB (Tera Byte)

05. None of these
Q-165 =AHHFE A TG99 T THRT A 2T & ?
hi

01. KB (Kilo Byte) 02. MB (Mega Byte)
03. GB (Giga Byte) 04. TB (Tera Byte)
05. None of these
Solution for Question 165 Ans Key: 1

eng Bit (Binary Digit) is the lowest Memory Unit. But in this question we have to give the Answer according to the option so that’s why the answer is KB.
Kindly find the Memory Unit Structure:

YB(Highest)
7B

EB

PB

B

GB

MB

KB

Byte

Nibble

Bit (Lowest)

hi T IET AR (A & gt g 9% 20 W9 39 fadwedl & e a7 fam 14 g #hiferw 392 KB g
Kindly find the Memory Unit Structure:
YB(Highest)

/B

EB

PB

TB

GB

MB

KB

Byte

Nibble

Bit (Lowest)



Q-166

eng

Q-166
hi

Which of the following is the Slowest Memory?

01. Cache Memory 02. RAM
03. ROM 04. HDD
05. Magnetic Tape

TAH R HT Fad i AT g 8 2

01. Cache Memory 02. RAM
03. ROM 04. HDD

05. Magnetic Tape

Solution for Question 166

eng

hi

Q-167

eng

Q-167
hi

Magnetic tape is the slowest memory in the Memory architecture. Ex : Tape Drive

Magnetic Tape Ha® eftHT FHILT ZIAT § THAHT 3ETELT Tape Drive ZIdT &

01. Keyboard 02. Mouse
03. Central Processing Unit 04. Printer

05. None of these
_ FFeT AT gad gial ¢ oaH g% T it FwEfe gl §

01. Keyboard 02. Mouse
03. Central Processing Unit 04. Printer
05. =% T FIS AT

Solution for Question 167

eng
hi

Q-168

eng

Q-168
hi

is the heart of the computer and this is where all the computing is done.

Ans Key: 5

Ans Key: 3

CPU (Central Processing Unit) is Heart of the computer actually, CPU is the place where all type of Processes has been done. CPU has 3 basic parts

ALU, CU, MU.

CPU &I FFT FT g&T Fgl SITdT g SEH g THTT T IT4H 2raT & CPU & &ad: 3 9N gid & ALU, CU, MU.

What is Windows Vista?

01. Processor 02. Qutput Device
03. Storage Device 04. Input Device
05. Operating System

e fAeer Fm 8 2

01. Processor 02. Output Device
03. Storage Device 04. Input Device

05. Operating System

Solution for Question 168

eng

hi

Q-169

eng

Q-169
hi

Windows Vista is an example of Operating System.

At eew #1 3aTgew fAer AT grar g

Which of the following extensions suggest that the file is a backup file—

01. Bak 02. Bas
03. Com 04. Txt

05. None of these
TN A I AT TR FT4T S T 7F Backup HTEe 2T 2

01. Bak 02. Bas
03. Com 04. Txt

05. T & FrE 7S

Ans Key: 5



Solution for Question 169 Ans Key: 1
eng Backup file extension is .Bak by this extension file we can recognize that the file is backup file.
hi Backup TSl T UFTE=TT . Bak 21T & TH TSI % 52T backup TSl T TE=THT ST 76T &

Q-170 Which of the following option is not an example of Primary Memory?
eng

01. HDD 02. RAM
03. ROM 04. Cache

05. None of These
Q-170 =78 T FIF a7 foweT TTEad HHET 1 IS0 Toi 2 g ?

hi
01. HDD 02. RAM
03. ROM 04. Cache
05. =% T FIS Al
Solution for Question 170 Ans Key: 1
eng Hard Disk Drive is not the example of primary memory, it is the example of Secondary Storage.
hi 21e T grea ITeH HHIET T IS0 7al ¢ TE Secondary Storage FT IITELU §

Q-171 A file extension is separated from the main file name with a (n)

eng

01. @(At) 02. ?2(Question Mark)

03. #(Hash Mark) 04. _ (Dot)

05. None of these
Q-171 o9 FT=H 19 F TFHH TS HI EEEURERISICIES
hi

01. @(AD) 02. ?(Question Mark)

03. #(Hash Mark) 04. _ (Dot)

05. =H q FIS A5t
Solution for Question 171 Ans Key: 4
eng If the main file name is cec.txt then name of the file is CCC and the Extension file name is .txt
hi Y {=T HISH cec.txt § AT FIEH HT ATH ccc T UE THHAT extension FTSA AT txt ERIT

Q-172 Optical Mouse is an example of
eng

01. Scanning Device 02. Xerox machine
03. POS 04. SOP

0S. Pointing Device
Q-172 siftese ATISH I AT &

hi

01. Scanning Device 02. Xerox machine

03. POS 04. sopr

05. Pointing Device
Solution for Question 172 Ans Key: 5
eng Mouse is a Primary Pointing Input device.

hi HTSH U YT qev eae fRareq gl &

Q-173 The becomes different shapes depending on the task you are performing.
eng

01. Active Tab 02. Insertion Point

03. Mouse Pointer 04. Ribbon

05. None of these
Q-173 Taferer ST &7 S7 STTAT § ST 9fF ST STeT STeT aTed Fd 8l

hi



01. Active Tab 02. Insertion Point

03. Mouse Pointer 04. Ribbon

05. =8 F FE Tl
Solution for Question 173 Ans Key: 3
eng Mouse pointer can change its shape according to the task.
hi HIH quidd(qﬁ—fﬁﬂ*l{d“‘*a{&ijﬂl{@N(’ldl‘\adlg

Q-174  The alternative name for application software is

eng
01. utility software 02. practical software
03. End User Software 04.  Specific Software
05. None of these
Q-174 UTHaT AiFaTT FT T FETATAT S
hi
01. utility software 02. practical software
03. End User Software 04. Specific Software
05. None of these
Solution for Question 174 Ans Key: 3
eng End User Software is the alternative name of Application Software
hi uftaderd Hi%eaa? T End User Software HT FgT STaT §
Q-175 Where does most data go first with’ in a computer memory hierarchy?
eng
01. RAM 02. ROM
03. BIOS 04. CACHE

05. None of these
Q-175 FFe HHET AT | Ha9 T2l TTeT Fohe AT § STar g 2

hi
01. RAM 02. ROM
03. BIOS 04. CACHE
05. None of these
Solution for Question 175 Ans Key: 1
eng In a computer memory hierarchy RAM is the memory where data go first. RAM is a Volatile Memory.
hi FFAET HAET TIHH | T T2l STl RAM HHET | S1aT & RAM U volatile FHIET gt &
Q-176 Ifyou change Windows 98 operating system to Windows XP, then it is known as—
eng
01. Upgrade 02. Update
03. Patching 04. Separation
05. Merging
Q-176 T&=TT 98 stivfes foeew &t fEeter XP # afRafdd 3 &l gl Jar @ -----
hi
01. Upgrade 02. Update
03. Patching 04. Separation
0S. Merging
Solution for Question 176 Ans Key: 1
eng If the Operating system changed into a lower version to a higher version then this process is known as upgradation means to upgrade a software and if the
changes are done in the same version then it is called update.
hi TfT Ao fBeed U e §eaor § 39 S&n<0r | qiatdd gial g af 36 TiehaT & IO (upgrade) F T & ST SITAT § ¥ Tfs 36T

TERTOT § FoREfT STRTT T Iade 21T @ dr & st=ra+ (update) FET SITAT 21

Q-177 1 Million Byte is equals to
eng



Q-177
hi

01. 1MB 02. 1GB

03. 1 TB 04. 1 KB
05. 1YB

| e argz awEr gar 2

01. 1 MB 02. 1GB
03. 1 TB 04. 1 KB
05. 1YB

Solution for Question 177

eng

hi

Q-178

eng

Q-178
hi

1 Million Byte is equals to approximately 1MB
1 Million Byte is equals to approximately 1MB

Connections to other documents or to other locations within a website is known as

01. Hyperlink 02. Hyper term

03. Hexagonal 04. Task bar

0S. Task manager

JaeTse H T ST A AT SiEwgHe 9 S & o T TART FFAT ST 8
01. Hyperlink 02. Hyper term

03. Hexagonal 04. Task bar

0S. Task manager

Solution for Question 178

eng

hi

Q-179

eng

Q-179
hi

Hyperlink is used to connect the document or to other location within a website.

JaETze § fORHT ST eATerd AT STRTHE TT S 6 o0 gravieid T 20 77 Srar §

LSI in chip technology stands for

01. Large-Scale Internet 02. TLow-Scale Integration
03. Low-Scale Internet 04. Tocal-Scale Integration
0S. Large-Scale Integration

LSI T qU7 &9 47 ZraT 5?2

01. Large-Scale Internet 02. Low-Scale Integration
03. Low-Scale Internet 04. Local-Scale Integration

0S. Large-Scale Integration

Solution for Question 179

eng

hi

Q-180

eng

Q-180
hi

LSI-— Large Scale Integration (This component is used in Fourth Generation)

LSI — Large Scale Integration (39 FiFII=e T ST A2 TSt & foRam srar =m)

Java in computer programming is a —

01. HLL - High Level Language 02. LLL - Low Level Language
03. MLL - Middle Level Language 04. Machine Level Language
05. None of these

STTAT FFAET TTHHT & AqTIT

01. HLL - High Level Language 02. LLL - Low Level Language
03. MLL - Middle Level Language 04. Machine Level Language
R

Solution for Question 180

eng

hi

Java is a High Level Language.
ST Uk S T4 HTOT 2t &

Ans Key: 1

Ans Key: 1

Ans Key: 5

Ans Key: 1



Q-181 CPU Speed is measured in

eng
01. Hertz 02. Kilometer
03. Kilogram 04. millimeter
05. None of these

Q-181 CPU ¥ fa &t H HTIT ST T 82

hi
01. Hertz 02. Kilometer
03. Kilogram 04. millimeter
05. = & 8 A

Solution for Question 181

eng CPU speed is measured in Hertz (GHz, MHz)

hi CPU #¥ 1T Hertz (GHz, MHz) § AT SITT

Q-182  Which Input device is used to process the cheque in Bank?

eng
01. OMR 02. BCR
03. MICR 04. OMR

05. None of These
Q-182 fF =AYe fearss 1 wam T 3% &1 e™ F37 § fhar sman g 2

hi
01. OMR 02. BCR
03. MICR 04. OMR
05. AR AFIS :rg?r
Solution for Question 182
eng MICR is the input device by which we can process the cheque in bank.
hi MICR T# e f2aree Zrar g St w1 = FT & AT 211 g
Q-183  Which of the following group consist of only output device?
eng
01. Scanner Printer Monitor 02. Headphone Printer Monitor
03. Mouse Printer Monitor 04. Plotter Printer Scanner

05. None of These
Q-183 AT A FA H YT § Faw r3ee fRarza g 2

hi
01. Scanner Printer Monitor 02. Headphone Printer Monitor
03. Mouse Printer Monitor 04. Plotter Printer Scanner
05, AR

Solution for Question 183

eng Headphone Printer Monitor is an output device

hi = ffex wifer smeeye Raa

Q-184  The type of keyboard that appears on a touch — sensitive screen in window is called a

eng

01. Flexible Keyboard 02. Temporary Keyboard

03. Standard Keyboard 04. Multifunctional Keyboard

0S. On screen Keyboard
Q-184 UF FTGTE FHT THTC Z1AT & ST T windows H 29 HHed ShIF F & H qTI7 ATAT 8 |
hi

01. Flexible Keyboard 02. Temporary Keyboard

03. Standard Keyboard 04. Multifunctional Keyboard

05. On screen Keyboard

Ans Key: 1

Ans Key: 3

Ans Key: 2



Solution for Question 184

eng The on screen keyboard that appears on a touch — sensitive screen in window
hi On screen Keyboard UH FIETE FT YT gIAT & ST T windows ¥ 2+ HAed HhIF % &7 § TTIT STAT ¢ |
Q-185 CD Can store
eng

01. 1 TB 02. 1GB

03. 1.44 MB 04. 100 MB

05. 700 MB
Q-185 CD & =<t &\ar AT g
hi

01. 1TB 02. 1GB

03. 1.44 MB 04. 100 MB

05. 700 MB

Solution for Question 185

eng CD can store 700 MB data it is an optical disc in memory architecture.
hi CD ® 700 MB TTeT €21 fohaT ST HhdT 8 Ag ALY STheaae § sfifoesher (SFh FT AN 21aT &
Q-186 BIOS is the example of
eng

01. Freeware 02. Shareware

03. Adware 04. Firmware

05. None of these
Q-186 BIOS T ITTEIIT & ?
hi

01. Freeware 02. Shareware

03. Adware 04. Firmware

05. =it & s T

Solution for Question 186

eng Permanent software programmed into a read-only memory is known as Firmware.
hi TET AT FFAT TRITH S AT TH(ROM) | F21¥ 84T 2 Firmware FeTdT &
Q-187 Pendrive is an example of
eng

01. Primary Memory 02. Cache memory

03. Magnetic disc 04. Optical disc

05. Flash Memory
Q-187 T3 FT AT ?
hi

01. Primary Memory 02. Cache memory

03. Magnetic disc 04. Optical disc

05. Flash Memory
Solution for Question 187

eng Pen drive and memory card is an example of Flash Memory.
hi U T2 UF HHILT FTS FALT HHE F IS0 &
Q-188 How many bits in 1 byte?
eng
01. 8 02. 16
03. 32 04. 64

05. None of these
Q-188 1 Byte ¥ foha+ Bits 10 22
hi

Ans Key: 5

Ans Key: 5

Ans Key: 4

Ans Key: 5



01. g 02. 16
03. 32 04. 64

05. i & A 7S

Solution for Question 188

eng

hi

Q-189

eng

Q-189
hi

1 byte = 8 Bits.
1 byte = 8 Bits.

Mnemonics were used in

01. Machine Level Language 02. High Level Language
03.  Assembly level Language 04. Low Level Language
05. None of These

Mnemonics T FRT H T Smar g

01. Machine Level Language 02. High Level Language
03. Assembly level Language 04. Low Level Language
05. = q F1E 721

Solution for Question 189

eng

hi

Q-190

eng

Q-190
hi

Mnemonics were used in Assembly level Language.

Mnemonics T T3 Assembly Level Language & f2rm stram %

Which of the following is related with printer.

01. Hertz 02. Nibble

03. Byte 04. CPS (Character Per Second)
05. None of These

TAH F A1 97 faseT fiex § qafeaa g

01. Hertz 02. Nibble

03. Byte 04. CPS (Character Per Second)
05. =4 H &S Tl

Solution for Question 190

eng

hi

Q-191

eng

Q-191
hi

CPS (Character Per Second) is the unit of the printing speed
e &t a1fa 7 A1+ % forw CPS e & s=m o sirar

Octal Number System has base

01. 8 02. 6
03. 16 04. 2
05. 10

Octal Fa¥ foeew #7159 graTg

01. g 02. 6
03. 16 04. 2
0S. 10

Solution for Question 191

eng

Octal Number system has base 8

Binary Number system has base 2
Hexadecimal Number system has base 16
Decimal Number System has base 10.

Octal Number system has base 8

Binary Number system has base 2
Hexadecimal Number system has base 16
Decimal Number System has base 10.

Ans Key: 1

Ans Key: 3

Ans Key: 4

Ans Key: 1



Q-192  Which one is not an impact Printer?

eng

Q-192 =8 ¥ F1 A7 impact ez T2 § 2

hi

01. Dot Matrix Printer

03. Chain
05. None of These

01. Dot Matrix Printer

03. Chain
05. =8 ¥ F1E T

Solution for Question 192

eng

hi

Q-193

eng

Q-193
hi

Thermal printer is a non-impact printer.

JHe f¥ UF non-impact e &

02.
04.

02.
04.

Daisy Wheel Printer
Thermal

Daisy Wheel Printer
Thermal

Which of the following cables can transmit data at high speed?

01. Coaxial Cable
03. UTP
05. None of These

02.
04.

TAH | A AT Feel I A H ST T HSTd T g 2

01. Coaxial Cable
03. UTP

05. =8 T FIS 75l

Solution for Question 193

eng
hi

Q-194

eng

Q-194
hi

02.
04.

Optical Fiber Cables
Twisted Pair Cable

Optical Fiber Cables
Twisted Pair Cable

Optical Fiber Cables can transmit data at high speed.
A et BT Fae ST T & STT T ATl §

What is the full form of SSD ?

01. Solid Stage Drive

03. Solution Stage Drive

05. None of These

SSD T IUF &9 FIT Z1aT &

01. Solid Stage Drive

03. Solution Stage Drive

05. T & Fré TS

Solution for Question 194

eng

hi

Q-195

eng

Q-195
hi

SSD- Solid State Drive: A solid-state drive (SSD) is a newer, faster type of device that stores data on instantly-accessible memory chips

SSD- Solid State Drive: A solid-state drive (SSD) is a newer, faster type of device that stores data on instantly-accessible memory chips

02.
04.

02.
04.

Solid State Drive
Solution State Drive

Solid State Drive
Solution State Drive

The computer that process both analog and digital is called

01. Analog Computer

03. Hybrid Computer
05. None of These

FE FFEL ST AFANT 1Y Bfored a1 07 w1 Far g

01.  Analog Computer

03. Hybrid Computer

05. =7 ¥ FI T8I

02.

04.  Automatic Computer

02.

04.  Automatic Computer

Digital Computer

Digital Computer

FEATAT &

Ans Key: 4

Ans Key: 2

Ans Key: 2



Solution for Question 195

eng

hi

Q-196

eng

Q-196
hi

The computer that process both analog and digital is called Hybrid computer
g FFASL ST AFANT 3T T ee TT 9% F1F F7qT § SIS FFAST FgaTdl §

An error in computer program is called

01. Bug 02.
03. Debug 04.

05. None of These
FFLET TRTH | e 7 FET SATAT S

01. Bug 02.
03. Debug 04.
05. =H q FIE A1

Solution for Question 196

eng

hi

Q-197

eng

Q-197
hi

An error in computer program is called Bug.

FET T & A T 3T FgT AT 2

is a computer programming language.

01. C 02.
03. Java 04.
0S. All of These

e FOEd TUTHIET AT g E

01. C 02.
03. Java 04.

05. I ot

Solution for Question 197

eng

hi

Q-198

eng

Q-198
hi

Crash

Crash

Virus

C++

Fortran

C++
Fortran

C C++ Java Fortran these all are High Level Languages.

C C++ Java Fortran Tg 89 3g T ATUT ¢ (TS A HTHT)

Which part of the computer helps to store Information?

01. Keyboard 02.
03. Printer 04.
05. HDD

Computer ¥ f3¥ SRT gTT F2TST AT STTAT ?{‘?

01. Keyboard 02.
03. Printer 04.
05. HDD

Solution for Question 198

eng

hi

Q-199

eng

Q-199

Hard disk drive is used to store the data permanently, It is a Non-Volatile Storage.

2TE oo IT2d T YT STeT il #4TT €9 § T 7 & o0 6T a1 § 37 T8 UF

Non Volatile #HIET gt &

Which of the following is not an Operating system?

01. Windows XP 02. MAC OS
03.  Android 04.

05. None of These
TAH | FI A7 fashed At e agi g 2

Mouse
Plotter

Mouse

Plotter

Java

Ans Key: 3

Ans Key: 1

Ans Key: 5

Ans Key: 5



01. Windows XP 02. MAC OS
03. Android 04. Java
05. gty A oY
Solution for Question 199 Ans Key: 4
eng Java is a Programming Language.
hi Java T STITEAT STOT "@?ﬁ %’
Q-200 What s the full form of DOS?
eng
01. Disk opera system 02. Disk operating system
03. Double operating system 04. Disk opera sense

05. None of these
Q-200 DOS T I &7 FT gaT &2

hi

01. Disk opera system 02. Disk operating system

03. Double operating system 04. Disk opera sense

05. =% T FTE AL
Solution for Question 200 Ans Key: 2
eng

DOS full form is Disk operating system and DOS is an example of CUI (Command User Interface) base operating system
hi DOS T qU7 &7 f2& i ffeen & Ud a7 CUI (FHTE TAY Te0hH) T IS0 &



